ADJUSTABLE BASE

MULTIPLE-PIECE GALVANIZED
STEEL ASSEMBLY ALLOWS FOR
SOME LATERAL ADJUSTMENT
BEFORE NUT IS TIGHTENED. BASE
ELEVATES WOOD COLUMN ABOVE NAIL BASE TO
FOOTING. WOOD BASE
5 i WOOD COLUMN.
= 1
1

ADJUSTABLE COLUMN BASE



Top Soil Joists
1 ——

:L |1 m:
]
=]
=|[=][=]i N
== % oisture Barrier
il /]

Gravel ——— ﬁ@ﬁ
—|| =
Ll

4" Perforated glr\;vd "
Drain Pipe NjlE=|q| eathing
P KRS
‘ / stua () onc. Slab
—|| |7 O u a
s
<= { =
| M FE P P o
— = I‘ T WA T e e L e
Footing ﬂ

Plate

=
EeEEEEEE
NI

ALL Weather Wood Foundation



/////

7~ 7~ el N

\\\\\

AN AN AN AN AN F4T I I N N N NN N N

12"

Concrete 4 p

Tl " 0 s,

T T—T TTT—TT] T |
)
| i P S | I e Y e
7ﬂ

=1 5

24" g

Alternate Block Firewall
For Crawl Space Foundation



< SLOPE FINISH GRADE AWAY
/ ‘ FROM BUILDING

WATERPROOFING

ASPHALT - IMPREGNATED PROTECTION BOARD
RECOMMENDED FOR SOME INSULATIONS &

WATERPROOFING

EXTERIOR OR INTERIOR

=] Y‘f“’ T, INSULATION
7\  BACKFILLL W/ RIVER ROCK
! AGAINST WALL.

FILTER FABRIC IF
REQUIRED

BASEMENT

P WALL

SLOPE TOP OF FOOTING
W/ MORTAR

4" PERFORATED DRAINPIPE W/ HOLES ORIENTED DOWN &
— SLOPED TO DAYLIGHT OR TO STORM SEWER OR DRYWELL

BASEMENT DRAINAGE



Pea Gravel or

River Rock \

Drain Tiles

~———Concrete Blocks

\ﬁ Hﬁ \ \ﬁ\ \ \ﬁ\ \ \ﬁ

IS

Parging

l=l=IE=E=]

EE=IEEE
Al

===

1/2" Insulation

===

I

2
HIEE ==
EE=EEETE
ittt

Tl

ouble Slab

HI=IEE ]
===

===

== =] =T =

aaf

Moisture Barrier

Footing..

EEIE
[E=]IE=]1E=]]

EIEE ¢4

et

A

fffffff e _|
=

_L*III*III*III*III*III

Coal Tar Bitumen

o il

T T
==L
ISR

—WEWEWEWEWEWE

EIEEEEIEE

i T
il

==EEEETE
Ml Ul ]

T T =

Fiberglass

Cloth over
waterproofing

Fiberglass
reinforcement

ﬁSIab

<

<

pal <

JTI 111

BASEMENT DRAINAGE
FOR WET AREAS

m......,..lllll.lll'vQ J|||I|||||U
=i ||




See Plan for
finished wall

-

Finished Floor - 2"x6" Studs
Building Paper @16" 0.C.
Sub Floor -~ Base & Shoe

Mould
I 4
'\ v Al >\
Joist Sized per Plan
=
2"x6" @ 16" O.C. -

)y |
Treated Plate W/8d | ‘e

Masonry Nails or ram set

4" gravel fill

—  4'Concrete Slab with
6"x6" No. 10 W.W.H

Membrane over

Al I 7 S 57T X
(R P
Il SISl :»fm*m SISISIE]
N e YV e B W e M e W W s N
7
8'x16" Continuous / 4" | 8" | 4 B Rebar
Footing Under  —— L . As Required

Bearing Partitions

BASEMENT STUD WALL DETAIL




INSULATION

_———FIOOR SYSTEM

WATERPROFINGi

BACKFILL &

—_—

DRAINAGE ™~

\

ALTERNATIVE LOCATION
Es FOR INSULATION

VERTICAL REBAR PLACED @

e TENSION SIDE OF WALL RESISTS
BENDING FORCES

ASPHALT - IMPREGNATED

PROTECTION BOARD
RECOMMENDED FOR SOME ———
INSULATIONS &

BACKFILLL W/ RIVER ROCK

WATERPROOFING | AGAINST WALL.
FILTER FABRIC IF
REQUIRED
VERTICAL REBAR
ANCHORS WALL TO
ﬁFOOTING
4" PERFORATED DRAINPIPE W/ ﬁSLAB
HOLES ORIENTED DOWN & Y
2#825”5&%@1‘5535%5&? ks, FULL MORTAR JOINT ON
g PO :ROUGHENED FOOTING
\\ =ll-abs 1A
M : \; : < Z\
—— -
‘ Pr P - FOOTING
\Vf - & B
\ L ] jﬁ flm I

A

BASEMENT WALL



FLOOR SYSTEM
/INSULATION

WATERPROOFING

BACKFILL AND DRAINAGE

———ALTERNATIVE LOCATION

// FOR INSULATION

VERTICAL REBAR PLACED
" @TENSION SIDE OF WALL

RESISTS BENDING
FORCES.

———BOND BEAMS AS
REQUIRED BY
ENGINEERING

_————VERTICAL REBAR

ANCHORS WALL TO
FOOTING

/SLAB

FULL MORTAR JOINT ON
ROUGHENED FOOTING

<

—FOOTING

4

T TTI=—TT]
i | i

=

S e e e e ] e A

T

BASEMENT WALL



Interior Wall |

\
\
\\

4
\

4" Concrete

Slab over 4" )
A.B.C 8

Continuous 2"

x4" Ledger

3/4" T&G

Plywood

2" x 10" Joist

\
| o
— T I——]

\
TT1— —

P

TV =t T =T T T T =TT =T T T—— T}
TN T T T N T e :
—|| == =A== .

H‘7”‘7”‘7”‘7”‘7”‘7”‘1 :

H‘iH‘7”‘7”‘7“‘7”‘77 ¥ i

W | = 2 — | =

:

‘7 7 UL s s 85 i A AL * 4
fH‘fH‘fH‘—‘Hf‘H = S &
== J,ZH N Ex

et a1 a
== l=l==li=lF
:

Vapor
Barrier

#4 Vertical Rebar @ 24" O.C.

\/'/@ 16" O.C.

1/2" x 10" Anchor

Bolt @ 6'-0" O.C.

8" Cast in Place concrete
Basement Wall

(2) #4 Rebars
Continuous

1 2"

Basement Wall

= =] y —TT=I1J
—H —H\—H T T—TTT—IT :H‘f“‘f”
T
e s
EEEEEEEE
=== =
[ == H/W
==




Treated 2"x 6" Pt Plate w/8d
Masonry nails or Ram set

Finished Floor

(See Spec.) —

4" Conc. Slab W/#10, 6" x
6" W.W.M. as Reqd. over
Vapor Barrier & 4" Gravel.

| (TYP)

|
" '
ﬁ% =~
1 %ﬁ%ﬁé g
| ° b ‘\
2-#5 Rebars
Where Req.
16"

BEARING PARTITION FOOTING
(CONTAINED SLAB)



—— Sheathing

N /

For Finish C;:J o — Air Space
See Spec. ——
,\f\j e
2" x 6" PT C/D N _Brick Veneer w/ Metal Ties
(TYP) - e 16" Vert & 32" Horiz.
Finished C\;/\D
Floor ( =
J 8|IX8"X1 6"
Conc. L Block
T § ﬁ_x — / Grade
SIS AT A f

= m
0 i R — || |— U
- i / =

—

—

12" x 8" x 16" ~ A
Conc. Block 10"

4" 20|| 4||

BLOCK WALL WITH BRICK
AND CONTAINED SLAB



Stucco over

e
Eor Eirish B D L high metal lath
See Spec. = C/ /)
Y
2" x 6" PT (TYP) C\/:D o Sheathlng
P
— _
- C _ Sill Sealer &
Finished Floor C\ ) Erout Lavel
J 7> 8IIX8IIX1 6"
1" Rigid Foam Conc. L Block
Insulation turned 24" // |
away from wall < o Grade
Note: Omit insulation for 6" (Horiz) K%H/ U// - See Your
at approx. 3 ft intervals to provide Z] Local Code
bearing for slab (Typical) A Req.
o 4 10"
12" x 8" x 16" 7
Conc. Block
4" 16" 4"
BLOCK WALL WITH

SIDING OR STUCCO

AND CONTAINED SLAB



Hl—
Stucco I — Insulation
(SSee — ES (TYPICAL)

pec) : C:D
Sheathing - 1 C.",%
; (C;;U \L

26 Ga. Terminte I~ .
Shield Where M —
Required Il ——)

1—
Metal Stucco I ) _
Ground £ i

1. / - 2" X 6" Plate Min.

1/2" Anchor Bolt 8"

( || — 0.C. Where
Required

[ Rigid Foam

12" Conc o i Insulation
Block L u

Waterprooing

over 1/2" parging — L 4" Conc. Slab W/No. 10, 6" x6"
(TYP) —* - W.W.M. as required over vapor
i / barrier & 4" gravel
6" (n - = N .' ,:,7 bl :f |
_ : ' LAY 7
Li : | J LTSS ‘.
e, i J/‘

N  ,:7 ' A I e ,: N = ] ') =
SIL i e e
2" YPETART I e W iM

4" Drain Tile - 4" 20" 4u\
in 12" Gravel

" Gravel

20" x 10" Conc
Footing (TYP)
BLOCK WITH SIDING OR

STUCCO AND BASEMENT
(Rigid Insulation )



\D Insulation

Stucco 1= ~ (TYPICAL)
(See | o
Spec) =

Sheathing 1=

Terminte Shield —
Where Required | E}D
c—
Metal Stucco 1>
Ground I -
HIN <
Grade *\ 7 2" X 6" Plate Min.
‘ ‘ ‘ ‘ ‘ ‘ ‘: o 1/2" Anchor Bolt 8"
—— 11— ( ~————0.C. Where
h Required
12" Conc Block ~_ LAJ
¥»
Waterprooing 4" Conc. Slab W/No. 10, 6" x6"
over 1/2" N W.W.M. as required over vapor
parging (TYP) barrier & 4" gravel
L[] ; - k‘ { -;L%‘ l 7 ;‘k_ -“ a?gl; /
N grept =y A EpMaliE t ‘ ) N
S
o Pkl e ﬁ\
on ’7‘.’ PR :
A L= \ J J 4" Gravel
4" 20" 4" ‘
4" Drain Tile \
in 12" Gravel 20" x 10" Conc

Footing (TYP)

BLOCK WITH SIDING OR
STUCCO AND BASEMENT



FASCIA

-
.
— ﬁﬁ/

— — It T CAULKING
N
S\

- %) . | SHEATHING

— BUILDING WRAP
FASCIA

SOFFIT
r BACKER ROD
/\
S -
— —
— D, i J
C\\j CAULKING C N > @
C B C/ ) ¥CAULKING
— ~ = SHEATHING (o T
/:g Q’Jk T SHEATHING
BUILDING
WRAP BUILDING WRAP
WOOD TRIM SOFFIT

BRICK/FASCIA/SOFFIT/TRIM



10d @ 4" O.C.

2x4 or 2x6 @ 16"

3/1/2" Conc. Slab on

grade

with W W F 6X6-1010

Vg

O.C.
VA D 2x4 or 2x6 Plate
C’;D 16d @ 4" O.C.
CI=
C:% Light weight Conc.
C 1=
C\D — 5/8" Plywood
T )
=
1
Cy :
Xy - =~~~ —
A 2x12 Floor Joists
@ -
~ R
T |
P
11 1 6"x6" x 5/16" @ 48" O.C.

1- 3/4" bolt @ each leg

— I /Brlck Wall

Brick Wall & Wood Floor

Connection @ grade



Optional Framing
For Bay Window

than 2'-0" must be
ENGINEERED

PERPENDICULAR TO PARELLEL TO
JOIST JOISTS

Cantilevered Floor Details




C;) Siding (See Elevation)
C:% Building Wrap
CH 1/2" CDX Plyw'd Sheathing
CH 2X6 Studs @ 16" 0.C.
Floor Finish gij “ R-21 Faced Batt Insulation
1/16" Part BD Underlay 63 1/2" Gypsum Bd
3/4" T&G Sturdi-Floor Decking Cg
Joist(See Plan) — =
R-30 Unfaced insulation C—H
C:D
e
Blocking éj
4' 3/4" Reinforcing @%
Both Sides C:D
=
.
=
HOUSE —
C\D
7 B - 2X6 Plate
4 [ |
GORITZEZSTIN] ———
2 ‘ -
ool or/Olpe 1/2" Plywood Sheathing
Mudsil - |
S =2t
BN WTW

° ° “ ‘ “
o “ “ “

& o
(@]
o

CANTILIEVER DETAIL



> 1/2" RADIUS - TYPICAL

TYPICAL STUD WALL
K‘ 1" x 4" OAK CHAIR RAIL

STAIN & VARNISH

w/FLUSH OAK PLUG

o =
P4
/) W
TOGGLE BOLT TOWALL ) L T
AT 40" O.C. FILL HOLE <
(e o]
N

71 phd?.

N

CHAIR RAIL




, Ceiling
Roof Joist

Sheathing

%

| )
Molding .

Frieze Board

Plate

Siding /

Frieze Notched \
to receive siding N Stud

Wall Sheathing

CLOSED CORNICE w/ Frieze
Board Next to Sheathing



2" x 6" Stud

Interior Finish

Briek Varasr D Base & Shoe Mould
WiNlatal Tes = Finish Floor
16" Vert & 32" —
Horiz. j Bldg. Paper
Sheathing :j% Sub Floor
’ V aN
Flashing — )
Where S
Required g/;'“ CLOSER
=
)
Weep Holes N =N
. \ ‘: ———2"X6"Plate
%\\ [ 11 T T——T T 1 T al 8" X 8" X 16" Solid
=l === : Masonr Brik
L | L,
L8 T 12" Concrete
‘ ‘ | Grade Block
12" Conc. Block —_ i
1 4" Conc. Slab W/No. 10, 6" x6"
_ H W.W.M. as required over vapor
Waterprooing over 1/2" H barrier & 4" gravel
parging (TYP) . / -
Ve 4 A AR AR WA
Ly ' ® ‘ ‘ ‘ /D/\
£ =
o l - Vapor Barrier
4" Drain Tile 4" 20" 4"
in 12" Gravel 20" x 10" Conc

Footing (TYP)

CONCRETE BLOCK WALL WITH BRICK
AND BASEMENT ( Rigid Foam Insulation )

- 4" Sand or Gravel



Brick Veneer
W/Metal Tiues

. I — |
Horiz. 5 ~__—Insulation
Sheathing ;/I) Finished Floor
e ~|C=| i
Flashing > L />ﬁ Sub-floor
Where — ) +
Required ~— Cj
<:/") CLOSER
=
Weep Holes 3
Grada 2" X 6" Plate
h A
T T BE T T I—Z | 8" X 8" X 16" Solid
Masonry Brick
|/
=
L1 | —— || s 12" Concrete
I I i N Grade Block
I I e N
12" Conc. \u<i\
Block —~—
7
\ 4" Conc. Slab W/No. 10, 6" x6"
Waterprooing W.W.M. as required over vapor
over 1/2" parging barrier & 4" gravel
(TYP)
[N B B B N O y
T Y > 1Y N e <j. /‘j. <j. <
— RN AL A ; ) \/'
T . )
2 3RZESRZ=0h I 11—
- 4" 20" 4"
4" Drain Tile
in 12" Gravel 20" x 10" Conc

Footing (TYP)

CONCRETE BLOCK WALL WITH BRICK

AND BASEMENT




Gaskets or caulking
above & below rim joist

= Pressure-treated sill plate

Rigid Insulation ——

Protective coating

(1) Q
t d J ~ Insulation between
b floor-ceiling joist with vapor

) =i

retarder on top side of
fSIope a\;\llay . insulation
rom wa " Mi
at 6" to 10" i I Gasket or seal material
. /é/ N ~ under sill plate
Low-permeability Pl ol LA
soil _~~ 6"Min. /.
= "/// >
= <//J— 4 1/2" anchor bolts @
e o 6' O.C.
-
Sealant if required
Damp-proofing or .
waterproofing \ !
< —— 4" slab w/ welded-wire mesh
Filter fabric 4 0
—\ S —— Vapor retarder
Course 4/5%?0 5 AR 5 /O Qv 7
G | ‘EMH;‘LH ﬁ 950 - C 7 o o v o 7
rave =TT g e
OQO\O— O\ | 05P o CJ?)O )bb ) #4 Rebar
O o 7 o © o |
e 0 e © , e
- P bl P
/507 ~ Qoéj
001 v o o o T NO59
%Q o 4 ®®\OO

4" perforated
drainpipe Concrete

Basement wall T 2" weep holes @ 8' O.C.

W/ Ceiling insulation



» %2X4 STUDS @ 16" O.C.

2 X4 SILL PLATE

| 3/4" PLYWOOD SUBFLOOR
| 2X 8 SOLID BLOCKING

8"
MIN

%
v

2!_0"
|

~ 2 X 8 FLOOR JOISTS @ 16" O.C.

7 ] 6 X 8 GIRDER

\ FINISH GRADE

| | CONCRETE FOOTING
CONTINUOUS REINFORCING BARS

31/2" 8" 312" COMPACTED SUBGRADE
|_3|l

CONC. FOOTING W/ GIRDER POCKET

7"
i
y




T [T e < 3/4" PLYWOOD

B 2"X10" BLOCKING
\ \

2"X10" FLOOR JOISTS AT 16" O.C.

> 4"X6" WOOD BEAM

, Z - 4"X4" WOOD POST

N

A WOOD PIER CAP ON
K SQUARE CONCRETE PIER

“\‘ | B M“ GRADE LINE

S A [

%— COMPACTED SUBGRADE

--101/2"
!

T 1

1 l_2ll

CONCRETE PIER WITH FLOOR FRAMING



FLOORING

P
CONCRETE C—
SUBFLOOR ON 3/4". —
BASE OVER 30- LB ——
BARRIER - — =
- % -~ RIMJOIST
o P .
(/-
JOIST ATTACHED TO 4 H
HEADER BEARINGON — )
STEM WALL g
MOISTURE =
BARRIER q
BETWEEN JOIST )
AND CONCRETE
I SIIE =TT T s o ,,
M:ﬁ:\ | \: | :\ =1 :L:\ = H \\ 4" DRAIN
: g
Eﬂ*\ | \*\ | \*\ | \*\ \ \*\ \ \*\ J=mi =] ‘*\ | \*M£L
E = T %
— L= — Ll ==l == v & — —
H\\:\H*H\*H\*\H:H\*H\* T *H\*\H:\
=== R R ==
Mmm\:‘HWHWHWHWHW . . EREE 2 ‘mmmm\

FROST LINE DEPTH MIN.

CONCRETE SUBFLOOR
FULL DEPTH JOISTS



5/4 X R.S. CEDAR CORNER BDS.

Ny

CAULK SIDING W/"VULKEM"
POLYURETHANE GREY CAULKING

T A=

PROVIDE (3) STUDS EACH

DIRECTION FROM CORNER

[

CORNER WINDOW
FRAMING DETAIL



2 X 6 SELECT NO. 1
D.F. RIPPED DOWN
W/FACTORY EDGE
TO THE OUTSIDE

[

g

P

\
% \
\'s

AN

\
—————

§ e

X
_—

5/4 X CEDAR CASING

GARAGE DR.
JAMB

FINISHED METAL _
CORNER BEAD 1 X WOOD CAP

CASING
j f "\\\ \ 3

, !
o \
M e H

—
-/

o -
—1X2TRIM
HALF WRAP SHT. ROCK
CLOSET JAM WALL CAP

( FOR BI-FOLD DOORS ONLY )

DOOR JAMB DETAIL



1X Lap Siding

Flashing

2X6 Redwood
Drip Cap Cut @

15 Deg. Bevel

Masonry
Veneer

1" Air

R—— — [ [ — [ [ [ \\Av_ﬁ\- o —

Space —

1" Styrofoam

Brick Tie

LAANANZ 7. %

2x4 or 2x6

o Stud

Required

— " Insulation

Sheet Rock or
_—— other type finish

DRIP CAP DETAIL



—— WATERPROOF MEMBRANE CONTINUOUS FROM
UNDER SIDING TO EDGE OF DECK

——1X4 CEDAR, P.T. OR OTHER WEATHER

RESISTANT BOARDS SPACED 3/16"

APART.
/» PLYWOOD SUBFLOOR

SLOPE 1/4" PERFT. —»

NOTE:
DUCKBOARD DECKS ARE GENERALLY HELD IN

PLACE BY GRAVITY. THEY SHOULD NOT BE
USED IN AREAS OF EXTREMELY HIGH WINDS.

DUCKBOARD DECK @ WALL



/\V // 6x6 Wood Post

\ | - 3/4" M. Bolts
Call \
|  5/16" Metal
/ .
® / Plate

W12 x Steel Beam T

- 5/16" Metal
/ ® /~ " Plate
| o]
/ A ( R 3/4" Bolts
\\ 1
e
J } ‘ 6x6 Wood Post
N
\

I

End Post Above & Below
(Metal Plate Connection)



rﬁ

6x6 Wood
/ Post

3/4" M. Bolts
1 5/16" Bent

Metal Plate

5/16" Metal /

Strap

W12 x Steel Beam

]

7

)
K

|

5/16"Bent

|

/‘

|

|

|

L

Metal Plate

o
4—///

/
|
\
/

|
|

/

|

3/4" Bolts

o 6x6 Wood
Post

End Post Above & Below
(Metal Plate Connection)




6x6 Wood Beam

v

6x6 Wood Post | /

A |
V

End Post
(Wood Beam)

N

" Simpson ECC66



10d @ 4" O.C. 5/8"+ Plywood
Y Y
\ \ \ /l
2 X Cont. _\\ / \ / \\ / \\ / -
Blockin ,' | / " i
g | I /\\ 2x12's @ 16 gb.c.
/ \‘\ / \\ // \ / \

2--#5's L

Angle 6 x 6 x 5/16" @ 48" O.C,
3/4" dia. bolt each leg.

Vertical Rebar

Bricks

Exterior Wall Rafters Parallel to Wall
Clip Angle Rafters to Wall

(Bricks)



i« VERTICAL SIDING

[T~

\\\\\\\\\\\\\\\\\\\\

§
=t

PORCH OR PATIO

\ =
1/2" ANCHOR g
BOLTS @ 4'-0" 0.C. W[ FIN. GRADE

) —T 1 ==
. W =7

N IIE

EXTERIOR SLAB

8" CMU

RIGID INSULATION

12" CMU

(RN INNENEEANRRENEI A NEREEAYENER




2-#5's

Simpson PAT Strap
@ 48" O.C.

5/8" Plywood

2x14 @ 16" O.C.

8" ConcreteBlocks .

A

|
Simpson "U"
JST Hanger

4 X 14 Ledger
3/4" Bolts @ 48" O.C.

Exterior Wall Joists Prep. to Wall
4X Ledger, metal tie straps

(Concrete Blocks)




10d's @ 4" o.c

1/2" Plywood
IRER
| \
V \/ \
) /\ ) 2x12's @
< 16" o.c.
2x  Blocking = - 2xBlocking
@ 48" o.c. Q\/‘g Simpson A35's @ 48" o.c.
=
=
C/‘\D 2 x 4 Double Plate
CC;'/) , 2x4's @ 16" o.c
1

Exterior '/aii afters parallel to wall
flat roof, metal shear resist clips.
(with a roof overhang)

A/
——
\

—




Al
el S 10d @ 4" O.C.
d N
) Simpson PA Strap
) @ 48" O.C.
|
g N 5/8" Plywood
24#5's ]
<oy
e ( 7 ~
Vertical
Reinf. {- A /[
7 NN i
2-#5's T/r -
N 2x14 @ 16" O.C.
/
2X Blocking
| 4 X 14 Ledger
Bricks N 3/4" Bolts @ 48" O.C.
/

Exterior Wall Joists Parallel to Wall
4X Ledger, metal tie straps
(Bricks)



A V 10d @ 4" O.C.

A V Simpson PAT Strap
(2) #5 Re-Bar 1 | @48 oc

‘/ ~ 5/8" Plywood
Y.

(2) #5 Re-Bar /J A ::i L ZXrensos \>
i
C

? : \ v
Brick Wall % \ \—
Simpson "U" JST Hanger

4" X ? Ledger
_ _ 3/4" Bolts @ 48" O.C.
Exterior Wall, Joists Prep. to Wall

4X Ledger, metal tie straps
(Bricks)

-




10d @ 4" O.C.
Simpson PA Strap
@ 48" O.C.
5/8" Plywood
2-#5's
Y
N B ® —— 7 ’ 2 /
Vertical Reinf. g P A
=
o o T
2x14 @ 16" O.C.
<
8" Concrete Blocks A 2X Blocking
\_,, 4 X 14 Ledger
. 3/4"Bolts @ 48" O.C.

Exterior Wall Joists Parallel to Wall
4X Ledger, metal tie straps
(Concrete Blocks)



16d's @ 8" o.c
Stagger

2 x 12 Continuous - » v

. 2x4 Plate

2x4's @ 16
0.C.

Simpson A35 @ 48" o.c.

2 x 4 Blocking @ 48" o.c.

10d's @ 4" o.c
1/2" Plywood

Y

T AN |
\

i~ |

/\

~_ |

M

R

2 x Blocking

—= )
/‘;:D

;ff)
—
)
- =

Simpson A35's \ 2x12's @ 16" o.c.

@ 48" o.c.
2 x Blocking @ 48" o.c.

2 x4 Double Plate

- 2x4's @ 16" o.c

Vv

Exterior

Wall Rafters parallel to wall

flat roof, metal shear resist clips.
(with a roof overhang & parapet))



10d @ 4" O.C. 5/8"+ Plywood

2 X Cont. |
Blocking \
I 2x12's @ 16" O.C.
& _7\
>0

2--#5's Y :

T Angle 6 x 6 x 5/16" @ 48" O.C,

3/4" dia. bolt each leg.
/|

2--#5's

Vertical Rebar

Concrete Blocks

-

Exterior Wall Rafters Parallel to Wall
Clip Angle Rafters to Wall
(Concrete Blocks)




2 X Cont. Blocking ——

2--#5's

10d @ 4" O.C.

5/8"+ Plywood

Y
NN N NN NN N N N N N N N N N N N N

D

&

3_,

2x12's @ 16" O.C.

DHQDDDDT:k

BNRRENNS AN N

2--#5's

[ ]
[ ]
[ ]
[ ]

Vertical Rebar

1il

Bricks

[ ]

Exterior Wall Rafters Prep. to Wall
Clip Angle Rafters to Wall
(Bricks)

Angle 6 x 6 x 5/16" @ 48" O.C,
3/4" dia. bolt each leg.




l— 10d @ 4" O.C. 5/8"+ Plywood
AN NN N N N N N G N N N N N N N N N NN NN N N NN N NN
2XCont. |
Blocking 2x12's @ 16" O.C.
& -
2--#5's ‘\

Angle 6 x 6 x 5/16" @ 48" O.C,
3/4" dia. bolt each leg.

2--#5's

DﬁDDDDE[E

Vertical Rebar

IINENRNNEANDEEY

Bricks

T.DD%?DQDD

i

Exterior Wall Rafters Prep. to Wall
roof Overhang,Clip Angle Rafters to Wall
(Bricks)




10d @ 4" O.C. 5/8"+ Plywood

2 X Cont.
Blocking - .

2x12's @ 16" O.C.

2--#5's

2--#5's

Vertical Rebar

AN

Bricks

o
\\
i Angle 6 x 6 x 5/16" @ 48" O.C,
B 3/4" dia. bolt each leg.
N
N
AN
N
N
N
AN
N
AN

{ /

Exterior Wall Rafters Prep. to Wall
Clip Angle Rafters to Wall
(Bricks)



~—10d's @ 4" o.c

1/2" Plywood

l

N N N N N

2 x  Blocking "

2x12's @ 16' o.c.

L.

\ Simpson A35's @

48" o.c.

2 x 4 Double Plate

¥2 Xx4's @ 16" o.c

y
/

Exterior Wall Rafters perp. to wall
flat roof, metal shear resist clips.



2 x 12 Continuous 10d's @ 4" o.c
/ 1/2" Plywood

N N AN AN AN AN AN AN AN AN

2x12's @ 16' o.c.

\ Simpson A35's @ 48" o.c.

2 x Blocking
2 x4 Double Plate

2x4's@ 16" o.c

Exterior Wall Rafters perp. to wall
flat roof, metal shear resist clips.
(with a roof overhang)



16d's @ 8" o.c
Stagger

—

2 x 4 Plate

2x4's@ 16" o.c.

— Simpson A35 @ 48" o.c.

2 x 4 Blocking @ 48" o.c.

2x12 T

Continuous

10d's @ 4" o.c
T 1/2" Plywood
- . - .4 .1 - y _ - . . - - . :
2 Blocki \ 2x12's @ 16" o.c.
x o 4S§Tgs: nAee 2 x Blocking @ 48" o.c.
2 x 4 Double Plate
¥ 2x4's@ 16" o.c

/
Exterior Wall Rafters paralell to wall
flat roof, metal shear resist clips.
(with a roof overhang & parapet))




10d's @ 4" o.c
—1/2" Plywood

N N N AN N N AN N ]

/ M 2x12s@ 16" o.c.
2x12 Blocking

L.

LY/ 2 x Blocking @ 48" o.c.

Simpson A35's @ 48" o.c.

\— 2 x4 Double Plate
T oxas @ 16" o.c

v
Exterior Wall Rafters parallel to wall

flat roof, metal shear resist clips.



15# FELT UNDERLAYMENT
UNDER COMPOSITION
SHINGLES

ROOF DECKING.

DOUBLE TOP PLATE.

2 X4 RETURN.

- 2 X RAFTERS.
3/4" FASCIA.

2 X FASCIA

1/2" GYPSUM BOARD.

1/4" PLYWOOD somj,tj
1 X FREIZE BOARD. ;

N 1/2" X 15" ANCHOR BOLTS, 6'-0"
AIR SPACE. - 0.C. 12" FROM CORNERS
BRICK WITH BRICK TIES N

PER MFG SPECs. \ 4" CONCRETE SLAB, 3,000 P.S...
_ WITH 6" X 6" 10 GA. X 10 GA.
INSULATION BOARD. ——— WELDED WIRE FABRIC.
FLASHING WITH |
14

WEEP HOLES @ 48" .
0.C. Nl

"~ 1" STYROFOAM WITH 6 MIL
IR VAPOR BARRIER

FINISHED
GRADE. /|

TYPICAL 4" CONCRETE POST,
4'-0" O.C. UNDER_LOAD
BEARING WALLS

(4) #4 REBARS AL
SOLID FOOTING 3
BOTTOM

EXTERIOR WALL SECTION



2x @ 16" O.C.

/ 2X Plate
5/8" Min. Plywood
16d
g O%. \ / Light Weight Concrete

NN N N N N N N N N N N NN

x

Blocking ALWS N

16d Toe Nail @ 32"
O.C.stagger
2X @ /
16" O.C.
2X Double Plate
V

Exterior Wall Joists Parallel to Wall
with light weight concrete toe nail shear resistance.




2x @ 16"
O.C.
2 X

Plate
16%@3 o 5/8" Min.
8°0.C. \ /| Plywood

NN N N N N NN NN N NN
ﬁ | <
%
2X
Blocking A
\ Simpson A35 @ 32"

\— O.C.
2X @ / 2X Double Plate

16" O.C.

T 9x @ 16" O.C.

Exterior Wall JoYsts Parallel to Wall
with metal shear resist. clips.



! / 2x @ 16" O.C.
2 X Plate
16d @ 8"
O.C. 5/8" Min. Plywood
Slope - /

J L L L L L L J L L L L L L L L L L L L

2X's @16" O.C. <>

0~ %

2 X Blocking
Simpson A35 @
32" O.C.
2X @
16" O.C.
2X Double Plate
/ 2X @ 16" O.C.

%
Exterior Wall-- Balony joist parallel to wall, with Lt.
WHt. concrete with metal shear resist. clips.




2x @ 16" O.C.

V /
2 X Plate
5/8" Min. Plywood
16d @ : .
8" OC. r Light Weight Concrete
y

NN N N N N N N N N N N NN

>
2 X Blocking ﬁ/ A
\ 16d Toe Nails @ 8" O.C.

Stagger
2X @ / 2X Double Plate
16" O.C.

Exterior Wall Joists Parallel to Wall
with light weight concrete toe nail shear resistance.




2x @ 16"

16d @ 8"
0.C.

2 X Blocking

2X @

16" O.C. \—.

4

/ o.C.
2 X
Plate
5/8" Min.
Plywood
2X @
/ 16" O.C

NN N NN NN N N NN

/2NN

§

Simpson A35 @
32" O.C.

2X
Double
Plate

— 2X @ 16"
O.C.

Exterior Wall Joists Parallel to Wall
with metal shear resist. clips.




2x @ 16" O.C.

/— ~5/8" Min. Plywood
16d @ 2X Plate
8" O.C.
10d's @ 4" O.C Light Weight
Concrete

2X @ N N P N N N NN <~ X

16" O.C. l} ‘

NN N N N N N N

2--2X"s

2 X Blocking @ 16" \ "
O.C. 16d Toe Nails @ 8" O.C.
stagger
2 X Blocking

2X Double Plate

R 2X @ 16" O.C.

A\

Exterior Wall --Overhang joist parallel to wall
with Lt. Wt. concrete, toe nail shear resistance.




2x @ 16" O.C.

2X Plate
10d's @ ————— 5/8" Min. Plywood
4" 0.C
16d @ Light Weight Concrete
8" O.C. /
R il
I N N N N NN NN N NN NN N N N N N
2X @ |
16" O.C.
\2--2X "s
2 X Blocking @ 16"
OC. Simpson A35 @ 32"
O.C.
2 X Blocking
2X Double Plate
_ﬁzx @ 16" O.C.

Exterior Wall --Overhang joist parallel to wall
with Lt. Wt. concrete, metal shear resistance clips.



2 x 4 Plate

e

2x4's @ 16" o.c.
16d's @ 8" o.c Simpson A35 @ 48" o.c.
Stagger
2 x 4 Blocking @ 48" o.c.
10d's @ 4" o.c
1/2" Plywood

= ~ ~ 1.4 ~

2 x 12 Continuous <
—

2x12's @ 16" o.c.

2 x Blocking \ Simpson A35's @ 48" o.c.
\ 2 x 4 Double Plate

. 2x4's @ 16" o.c

i
Vv

Exterior Wall Rafters perp. to wall
flat roof, metal shear resist clips.
(with a roof overhang & overhang)



2 x Blocking "

10d's @ 4" o.c

2 x Scarf

1/2" Plywood cut to slope

X

. 2x12's @16" o.c

Simpson A35 @ 48" o.c.

2 x 4 Double Plate

2x4's@ 16" o.c

Exterior wall, Rafters parallell to wall,
scarf slope roof to wall, metal shear

resistance clips



2 x 4 Plate

2x4's @ 16" o.c.

Simpson A35 @ 48" o.c.
16d's @ 8" o.c.
Stagger \ 2 x 4 Blocking @ 48" o.c.

1/2" Plywood

2 x Blocking / 2x12's @

~ 16" o.c

2 x Blocking @ 48" o.c.

Simpson A35 @ 48" o.c

2 X 4 Double Plate

2x4"s @ 16" o.c.

ilmuﬂuﬂuﬁu

Exterior Wall--Rafters parallel to wall
Flat roof, metal shear resist. clips.
(with a parapet)




l« 2 Xx4 Plate

- 2x4s@ 16" o.c.
Simpson A35 @ 48" o.c.
16d's@4"oc
~ 2x4Blocking 1/2" Plywood
2x4 2 x Scarf

cut to slope

Double \
Plate \

2 x 4 Blocking

\ Simpson A35 @ 48" o.c.

2 x 4 Double Plate

2x4's@ 16" o.c

2 x Blocking ><L
\ 2x12's @16" o.c
A§
V

Exterior wall, Rafters parallel to wall,
scarf slope roof to wall, metal shear resistance
clips. (with a parapet)



10d's @ 4" o.c

1/2" Plywood

2 x Scarf
cut to slope

|

2 x Blocking

2x12's @16" o.c

L.

\ Simpson A35 @ 48" o.c.

\ 2 x 4 Double Plate

- 2x4's@ 16" o.c

i
V

Exterior wall, Rafters prep. to wall,
scarf slope roof to wall, metal shear
resistance clips




- 2 x 4 Plate

L 2x4's@ 16" o.c.
Simpson A35 @ 48" o.c.

16d' 4" o.
ods @4"o.c \ 1/2" Plywood
2 x Scarf
cut to slope

2 x 4 Blocking —

2 xBlocking — 2 x 12's @16" 0.c

o\

Simpson A35 @ 48" o.c.

2 x 4 Double Plate

2x4's@ 16" o.c

I
V

Exterior wall, Rafters prep. to wall,
scarf slope roof to wall, metal shear resistance
clips. (with a parapet)



Exterior finish
& underlayment
as req'd by code.

Ledger beam
as req'd by
specific design.

QN

V‘
—

Gypsum wall

1. / ~ board.

Subfloor &

/ ~ finish floor.

4 /

— % /
e \//
= )

‘a\
Floor Joist

Joist hamger
nail as req'd.

Floor Joist Hanger
and Ledger Beam



AE DIM. DIM.

SIZE A" "D" FASTENERS
HOLDOWN
LTT19 34" 112" 120 8--#10
LTT20 /2" 1172 12" 10-#10
LTT20B 34" 112" 12" 10-#10
MTT28B 34" 112" 14" 24-#10
HD2A 5/8"  21/16" 12" 2--5/8" Bolts
HD5A 3/4"  21/16" 18" 2--3/4" Bolts
HD8A 718" 21/16" 24" 3--7/8" Bolts
HD10A 78" 21/8" 24"* 4-7/8"Bolis Dim. "A"
HD20A 11/4" 11/2" 30"* 4--10"Bolts ' |See Schedule
2
|
* NOTE: Bolt embedment based on \
min.conc. strength of 2500 P.S.I. —J Holdown Double
Fﬁ ' See Plan for i Stud--See
See Schedule for . Tl size | i 2 Plan
size & No. of LIt (Typ) L/
fasteners. — T i
(Typ) + T 7 T Bottom
' ® T "~ Track
i —
Double Nut % ‘T‘T‘ " — ‘KEE L] Rim Joist
w/washer (Typ) - l (Track)
i | Anchor Bolt
| nchor Bo
g'm- D" \ % % // J/ ".___ See Sched. for
ee | size (T
Schedule Joist ? | ? ©> /// (1Y)
Beyond | ]
A
/|
A
CMU Stem
Wall

HOLDOWN DETAIL AT STEM
WALL



Exterior finish Gypsum wall board.

& - 16d Nails
underlayment into floorboard.
as req'd by joistas req'd by code.
code. (
8d Nails or 14 ga.
1 1/2" staples @ 6"
0.c. each side
or equivalent.
I — Finished floor.
’ )
Subfloor extended / ) i
to outside of wall 0, |
panel. Nail to top R
plate with 8d nails N —
at 12"o.c., staggered. \/J
C —Floor joist.
oist hanger
. | with nailable top
~» flange.
o ~ Gypsum wall

Floor Joist Hanger and Wall



PARALLEL TO JOISTS

2"x 4" Ledger

Double Joist ———

2'x 4" Ledger

Double Header

Double Joists

JOISTS PARALLEL TO STAIRS

JOIST PARALLEL TO STAIRS

FLOOR OPENINGS



— Gypsum wall

Exterior finish & board
underlayment as '
req'd by code. 16d Nails

into floor truss
as req'd by code.

8d Nails or 14 ga.
1 1/2" staples @ 6"

I 0.c. each side
or equivalent.

Field installed
panel bottom

Al
N

plate. ]
Subfloor
™~
Rim joist. A i
Nailasregd ‘7
by code. :
- — Floor truss.

Floor Truss Bearing on Wall Panel



Exterior finish &
underlaymentas

req'd by code. Timber frame.
| /4[ Gypsum wall

board.
16d Nails
into sill plate
as req'd.
Vo Subfloor
i Y J
8d Nails or 14 ga. |
1 1/2" staples @ I Floor joist.
6" o.c. each side Rim joist.
— _ |
— Nail as req'd
/ - by code.
B
_—— =~ Treatedsill
RIS ‘\ plate
. "~ Sill sealer.
S|EET J:\ f;
= LHM
il
Cementitious / il A=

scratch

coat. Anchor bolt as

req'd by code.

Perform

~_Concrete or Mason
Guard EPS. Y

foundation wall.

Foundation Framing - Joist



Building paper

(i.e., 15# asphalt felt).

Air space, 1/2" min.

Exterior brick
finish.

8d Nails or 14 ga.
1 1/2" staples @

6" o0.c. each side
or equivalent.

RO

N

Gypsum wall
board.

Finished floor,
min 7/16".

16d Nails
into sill plate
, asreq'd.

/-
/
/

T
fm W Wf* :
‘\ H\ \H
Cementitious =1 %
scratch Hﬁmm
coat

-~ Treated sill plate.

4 ‘é\
A 4 2

& Sill sealer.

— Anchor bolt as

req'd by code.

Concrete or Masonry
foundation wall.

Perform Guard EPS.

Foundation Framing--Brick Ledge



Exterior finish
& underlayment as -

req'd by code.

U “

~

Gypsum wall
board.

0.C. eaph side
or equivalent.

AN ; ?nSt(cj) ag? joist
N as req'd by code.
—=
C:/< 8d Nails or 14 ga.
CZ\\/, 1 1/2" staples @ 6"
i

=1 |
Subfloor — ] /
| \ // \\ —1 Floor joist.
| e
ifo) N —
] T
I y / /\ Y e S
rt;l; I(I;sjer.eq I ] \\ e N | Treated sill plate
L i o il /
Rimjoist. 1
Insectclip L — Sill sealer.
or flashing. .

Caulk

S m‘L 11
WH =0 \,

Cementitious
scratch
coat.

el

Perform

req'd by code.

S S w1 Anchor bolt as

Concrete or Masonry
foundation wall.

Guard EPS.

Foundation Framing - Joist



Exterior finish ———
as req'd
by code.

OSB cap nailed

Gypsum wall
board.

——16d Nails

into floor truss
as req'd by code.

8d Nails or 14 ga.

/ 1 1/2" staples @ 6"
~ 0.Cc. each side

or equivalent.

/

AN /

to floor truss
as req'd.

| Subfloor

\

/N Floor truss

Insect clip

or flashing.

Caulk

Cementitious

scratch
coat.

-
\ \ Treated sill plate.

Q\\ Sill sealer.

" Anchor bolt as
req'd by code.

Concrete or Masonry
foundation wall.

———— Perform
Guard EPS.

Foundation Framing - Truss



Sheathing

AT

Beveled
Siding

2"x4" or 2"x6" Studs
@ 16" 0.C.

2"x4" or 2" x6"
Plate

2" x 6" or larger w/ 1/2" x 16"

Anchor Bolts
@ 72" O.C.

FRAME WALL Construction

| : /c':arpet w/bm\

Caulk, Grout

or some fiber
sealer




Hardwood
Finish Floor

Studs

BLDG. Paper
(Optional)

Subfloor

Vapor Barrier

Drywall or See Spec

15 Lb.Asphalt Felt Over 3/4" or for Finish

1" Foam Sheathing or See R
Spec.

(2) 2" x 6" or 2"x4"
Top Plate

FRAME WALL CONSTRUCTION



15 |b. Asphalt Felt (2 Layers if roof
is less than 4/12 pitch)

Ceiling Joist @ 16" 0.C.

Roof Sheathing (See Spec)

Shingles for size &

‘ﬁ weight see spec.

Foam Board Insulation

Baffle or similar ﬂ \
2"x4" or 2"x 6" Platej

18 GA. Metal Rafter .
Insulation as per

Anchor ( Simpson
H2.5 or similar) code req.
Rafters @ 16" /
or 24" 0.C.
Band Board
Drywall or as
Specified for finish
26 Gage G.I
Gutter & D.S.
(2)2"x4" or
Fascia 2" x 6" Top Plate
Exterior Grade
Plyw Soffit Insulation

2" Cont. Soffit Vent

- 2"x4" or
Frieze Board 2" x 6" Studs @ 16" 0.C.

Siding

FRAME WALL CONSTRUCTION
WITH SIDING



T sIDING
Sheathing
HEADER — |
I
BUILDING
E WRAP
1
INTERIOR X\_F
TRIM 74 1 LASHING
JAMB
STOPMOLD
W/SEAL
HEAD JAMB
SIDING
FRAMING /
RUBBER OR \ _———SHEATHING
VINYL SEAL N Il
PIVOT HINGE BUILDING
o)
JX MOUNT oD
T )
oy o a =
SILL v \4CASING
|
JAMB H . STOPMOLD
SIDE JAMB

GARAGE DOOR



BEARING WALL
P.T. SILL PLATE

NAILED TO SLAB W/
CONCRETE NAILS

30# FELT UNDER

P.T. SILL

REBAR

CONCRETE RATED

MOISTURE BARRIER

NOTE: DEPTH & FLAT
BEARING SURGACE OF
FOOTING MUST BE SIZED
TO SUPPORT VERTICAL
LOADS.

INTEGRAL SLAB FOOTING W/ BEARING WALL



WOOD POST

/ GALVANIZED STEEL

COLUMN BASE

REBAR

CONCRETE RATED
MOISTURE BARRIER

NOTE: DEPTH & FLAT
BEARING SURGACE OF
FOOTING MUST BE SIZED
TO SUPPORT VERTICAL
LOADS.

INTEGRAL SLAB FOOTING W/ WOOD POST



CONCRETE SUBFLOOR ON 3/4"

BASE OVER 30 LB. FELT OR — FLOORING
VAPOR BARRIER.
7 p ‘ ) ~ N
T N
JOISTS
JOISTS
/|

SINGLE HEADER NAILED OR
DOUBLE HEADER JOIST BOLTED TO DOUBLE HEADER.

W/JOIST ON JOIST HANGER.

CONCRETE SUBFLOOR ON 3/4" BASE
OVER 30 LB. FELT OR VAPOR

BARRIER.
FLOORINGj
- : ‘ ‘ N
: ; L
JOISTS JOISTS
DOUBLE HEADER JOIST VERTICAL
W/JOIST ON JOIST —
HANGER SUPPORT PER
PLANS
INTERIOR

CONCRETE SUBFLOOR



1" Gap

16d's @ 6" o.c. 2x4s @

stagger % e 16"0.c.

2 X Plate
Lt. Weight
2" X 14" Concrete
Continuous 5/8" Plywood

=] lga /
pal

<
4
AN AN AN AN AN AN AN AN N N N N N N N N N N N

2x14's @ 16" o.c.

,Am L

2 X Blocking / \ \Simpson A35

@ 32" o.c.
Simpson A35 ¥2 X Double Plate
@ 32" o.c.
2x4's @ 16"
) Stagger

Y
Interior division wall, joists perp. &

parallel alt. sides with Lt. Wh.

concrete, metal shear
resistance clips.



1" Gap

16d's @ 6" o.c.
stagger

2x4's@
6"0 C.

2 X Plate
Lt. Weight

~ Concrete
5/8"

-~ Plywood

2" X 14"
Continuous \

2 X /

} 32" 0.c
Blocking \

2 X Double

Plate
Simpson A35

"p @ 2x4's @ 16"
32" o.c.
«— Stagger

A

V

v

Interior division wall, joists perp. to wall
with Lt. Wt. concrete, metal shear

resistance clips.




1" Gap

2x4's @
' 7 16"0.cC.
16d's @ 6" o.c. ‘ 2 X Plate
stagger Lt. Weight
" X 14" Concrete
5/8" PI d
Continuous \ \ / yWao
\A AN AN j AN A ) \\ ) AN — \AA N - \’/ Aé | q\ AN \q AN
. 2x14's @ 16" o.c. 2x14's @ 16" o.c. —
N

\Simpson A35 @
Simpson A35 \ 32" o.c.

@ 32" o.c. \
2 X Double Plate

2x4's @ 16"
Stagger

Interior division wall, joists perp. to wall

with Lt. Wt. concrete, metal shear
resistance clips.



HEADER\

INTERIOR

TRIM \

g
OO

V—CASING

)

!

S~

HEAD JAMB
N 7
N g
N z
\B
. N ]
STOP EDGE
. Pl FRAMING\Q‘ 7 ASING
\ N7 ﬁ
| : N
CLEARANCE FOR )
FLOORING )
INTERIOR /
TRIM
SILL SIDE JAMB

INTERIOR DOOR JAMB



W12 X Steel 1/4" Metal

/ Beams Plate

. .
. .
o" 5/16" Side
Plate
) a—
4"
5/16" Side
é.. Plate
J
6X6 Wood / / 3/4" Dia. Bolts
Post -

Interior Post
(Steel Beam wi/steel angle connections)



6 x 12" Wood (2 . 5/8' Dia.

a / Bolts

xSimpson
CC66,Column

Cap

5/8' Dia.
Bolts

S\)/((?od /

Post

Interior Post
(Wood Beam w/ metal plate)



W12 X Steel Beams

5/16" Side

) Plate
4"
5/16" Side
on Plate
6X6 Wood / 3/4" Dia. Bolts
Post

Interior Post
(Steel Beam w/steel angle connections)



10d @ 4" O.C.

Simpson PAT Strap
@ 48" O.C.

Alternate Ea. side

—5/8" Plywood

2x14 @ 16" O.C.

Vertical Reinf.
<4
<
5/8" Plywood 2-#5's 2
o N ‘% P 3
<
<7
2x14 @ 16" O.C. "
\/ %
/’j
2-#5's e

8" Concrete Blocks ———»

Simpson "U"
JST Hanger

4 X 14 Ledger
3/4" Bolts @ 48" O.C.

Interior Wall Joists Prep. to Wall
4X Ledger, metal tie straps
(Concrete Blocks)

Alternate Ea. Side.




10d @ 4" O.C.
Simpson PA Strap
Vertical Reinf. @ 48" O.C.
5/8" Plywood
2-#5's
s v |
T T I T T AT T T~ T T 7
1
i1
"o 1
245's e 2x14 @ 16" O.C.
- .
8" Concrete Blocks - 2XBlocking
x., 4 X 14 Ledger
3/4" Bolts @ 48" O.C.

Interior Wall Joists Parallel to Wall
4X Ledger, metal tie straps
(Concrete Blocks)



2x @

/ 16" O.C.

2X Plate

5/8" Min.

16d @ 8"
@ Plywood

O.C.

@ 32" O-C- 16“ O-C-

Simpson A35 @
32" O.C.

2X @ 16" /

O.C.
2X Double Plate

%
[
2 X Blocking > § 2X @

Interior Wall-- Joist parallel to wall, with Lt. Wh.
concrete & metal shear resist. clips.




2x @
/ 16" O.C.
—2X Plate
16d @ 8" 5/8" Min.
0.C. Plywood
B )

NN N N N N N N N N N SNOOON N N N N N N N N N N N N ]

2\

2X @ 16"
2 X Blocking A O.C.

@ 32" 0.C.

Simpson A35

2X@
16" O.C.
2X Double Plate

Interior Wall-- Joist parallel to wall &
metal shear resist. clips.



10d @ 4" O.C.

Simpson PAT Strap
Vertical Reinf.

5/8" Plywood

2-#5's

@ 48" O.C.
Alternate each side

5/8" Plywood

2 XBLKG @ 48" O.C.

2x12 @ 16" O.C.

8" Concrete Blocks

2-#5's | ‘
2x14 @ 16" O.C.
N Simpson "U" JST
. Hanger
- 4 X 14 Ledger

3/4" Bolts @ 48" O.C.
alternate each side

Interior Wall JSTS Perp. & Parallel

Alt. Sides 4X Ledger, metal tie straps
(Concrete Blocks)



L
Vertical Reinf. il 10d @ 4" O.C.
- Simpson PAT Strap
’ , @48" 0.C.
_ 5/8" Plywood —————— Alternate each side
] <
045 / J ~ 5/8" Plywood
j /
Ssr— N —T N

2x14 @ 16" O.C.

. N \77
T‘ — 2 77 7 7 7
N
e

2XBLKG @
48" 0.C.

2-#5's B ) F l

‘ Simpson "U" JST
2x12@ 16" O.C. \ ‘ \ L Hanger

4 X 14 Ledger
3/4" Bolts @ 48" O.C.
alternate each side

Interior Wall JSTS Perp. & Parallel
Alt. Sides 4X Ledger, metal tie straps
(Brick)



2x @
/ 16" O.C.
16d @ 2 X Plate
8" 0.C. Lap Joists
Lap 5/8" Min.
joists Plywood
-~

J S O L 7 S L 7 Y. 7 7 S S L 7 J SO L 7 L L

2X'S @1 6" 2XIS @1 6“

il /H A O.C.

2X @ 16" O.C.

ﬁ

2 X Blocking \
Simpson A35 @
x 32" 0.C.
2X Double Plate

Interior Wall-- Joist prep. to wall, with Lt. WH.
concrete & metal shear resist. clips.




10d @ 4" O.C.

j\ / Plywood

V.4
ey | \\
o \ e
) ‘ / S
- 2XB8l /\Lking - \< >\
/' <& /
/ |
a /\ \ /
i 2X12"s@
4, D 16" O.C.
2--#5's
Angle 6 X 6 X 5/16"
@ 48" 0.C., 3/4" dia. bolt
Ll g each leg
2#5s
/ Vertical Rebar
Bricks

Interior Wall Rafters Parallel to wall, clip angle
rafters to wall, bricks



10d @ 4" O.C. — Plywood

> > > > > > > - > X > ' > > > > >
2X12"s @ s
16".0.C.
/ & __\
/ L o
2 X Blocking
Angle 6 X 6 X 5/16"
@ 48" O.C., 3/4" dia. bolt
each leg
\4
o I ®
2--#5's
Vertical
8" C t :
oncrete , Rebar

Blocks

Interior Wall Rafters Parallel to wall, clip angle
rafters to wall, blocks.



10d @ 4" O.C.

P Plywood
,,/ - |
Py
~~ 2XBlocking >
\
N
| ‘\;/ al A*
2X12's@ |
16" O.C.

| Angle 6 X 6 X 5/16"
'@ 48" 0.C., 3/4" dia. bolt
each leg

=
| 7»\; "
AN ™ Vertical Rebar

£ |

i 7

/. - ‘ —
/ N
>

Bricks /

Interior Wall Rafters Prep. & Parallel alt
sides clip angle rafters to wall, brick.



10d @ 4" O.C. —— Plywood

o

1 \
DY DY DY DY DY DY DY DY DY DY DY e e e e e e e e

>
Ol
/ ) ‘

|
2 X Blocking / oge L

4 2X12"s @
2-#5's 16" O.C.
Angle 6 X 6 X 5/16"
@ 48" O.C., 3/4" dia. bolt
%4 each leg
2--#5's ®

Vertical Rebar

8" Concrete Blocks ¥>

Interior Wall Rafters RTRS PREP &
Parallel ALT sides clip angle rafters to
wall, blocks



/]
y - 10d @ 4" O.C.
Vertical Reinf. /ﬂ.\ Simpson PAT Strap
% @ 48" O.C.
, \ —— Alternate Ea. side
i N
5/8" Plywood A "
— 045’ / ~ 5/8" Plywood
AN
M = AN Y
‘ ZaN ZaN / s ‘
A N
> S
2x14 @ 16" O.C. i 2x14 @ 16" O.C.
A
e
| R
ool &
N Simpson "U"
24#5s P JST Hanger
. 4 X 14 Led
ger
8" Concrete \\ 3/4" Bolts @ 48" O.C.
Blocks J / < Alternate Ea. Side.
/]

Interior Wall Joists Prep. to Wall
4X Ledger, metal tie straps
(Bricks)




10d @ 4" O.C.
Simpson PAT Strap

@ 48" Q.C.
Alternate each side

5/8" Plywood

P — —— — —_— 0 i — —r 77— 7

7V
N

e
N

, . 7

Vertical Reinf.
e
~__ 5/8" Plywood
2-45's =

R N A A = b2 ﬂo
’ ‘ Ve gl
N

L
I\

4

\ 2-#5's J% %

2 X BLKG @ A
48" 0.C. 2x12@ 16" O.C. / }

7

8"Bricks [

2x14 @ 16" O.C.

Simpson "U" JST
Hanger

4 X 14 Ledger
3/4" Bolts @ 48" O.C.
alternate each side

Interior Wall Joist Parallel to wall
4X Ledger, metal tie straps

(Brick)



10d @ 4" O.C.

— Plywood

2 X _ 2X12"s @
Blocking o 16" O.C.
Fes A IK ]
ootss Angle 6 X 6 X 5/16"
- @ 48" 0.C., 3/4" dia. bolt
each leg
\4
o le
o5

Vertical Rebar

8" Concrete /

Blocks

Interior Wall Rafters Prep. to wall, clip
angle rafters to wall, blocks.



16d @ 8" 2X 's @16"
oC. / O.C.
2 X 2 X Plate
Blocking Lap Joists
| 4--10d's

LT Weight

Concrete —\ —~ ~ 5/8" Plywood

AN AN AN AN b AN AN AN ,‘{ AN AN N7 AN AN AN AN AN

\ N

2X10's @ 16" O.C.

2 X Blocking N 2 X 14's @

‘ 16" O.C.
Simpson A35F Simpson A35 @
@ 32" O.C. \ 32" O.C.
2X 2 X 6 Double Plate
Continuous
T 2X6's@ 16" O.C.

Interior Wall--Unequal joists
Joist perp. & parallel ALT. sides with LT.
WT. concrete, metal shear resistance clips.




16d @ 8" O.C.

2 X Blocking

LT Weight
Concrete

Jf

=

2X 's @16"0O.C.

2X Plate

—— 5/8" Plywood

2X10's @ 16" O.C.

2 X Blocking

Simpson A35F @ 32" O.C.

2 X Continuous

>

%

L

00000

Interior Wall--Unequal joists
Joist parallel to wall with LT.
WT. concrete, metal shear resistance clips.

N 2X14's @ 16" O.C.

impson A35 @ 32" O.C.

2 X 6 Double Plate

2 X 6's @ 16" O.C.

2 X Blocking @ 32" O.C.



/2x 's @ 16" O.C.
— 2 X Plate
16d @ 8" O.C. Lap Joist
2 X Blocking
— 4--10d's
LT Weight )
Concrete \ V 5/8" Plywood

s \

© 2X10's@ 16" O.C.

° ° 2X142 @ 16" O.C.

Simpson A35F / \
Simpson A35 @ 32: O.C.

@ 32" 0.C.

— 2 X 6 Plate

2 X 6's @ 16" O.C.

—

Interior Wall--Unequal joists
Joist prep. to wall with LT.
WT. concrete, metal shear resistance clips.



16d @ 8" O.C.

2 X Blocking

LT Weight

Concrete

2x 's @ 16" O.C.

5/8" Plywood

2 X Plate
/F 2 X Blocking @ 32" O.C.

2 X 10's @ 16"
0.C.

2 X Blocking

Simpson A35F
@ 32" O.C.

2 X Continuous

/

A

S Av -

Interior Wall--Unequal joists
Joist perp. & parallel alt. sides with LT.
WT. concrete, metal shear resistance clips.

\ 2X14's @ 16" O.C.

x Simpson A35 @ 32" O.C.
2 X 6 Double Plate

. 2X6's@ 16" O.C.



2x @
16" O.C.
2X Plate
16d @ 8" 5/8" Min.
O.C. / Plywood
[ ]

2 X Blocking / 2X @ 16"

@ 32" 0.C. 0.C.
Blocking ———— Simpson A35 @
32"0.C.
2X @ 29X Double Plate
16" O.C.

Interior Wall-- Joist prep. & parallel alt. sides to wall,
with Lt. Wt. concrete & metal shear resist. clips.




— 1" Gap

2x4's @
16"0.cC.

16d's @ 6" o.c.

stagger j 2 X Plate
/7 Lt. Weight Concrete
2" X 14“ )
Continuous —\ / /— 5/8" Plywood
] / B

N N N 1 AN

2X14's @ 16" o.c. \ 2x14's @ 16" o.c.

‘ /\ I_/\

2 X Blocking / \ Simpson A35 @
\ 32" o.c.
: 2X
Slmpﬁon A35 Double
@ 32" o.c. Plate
T 2xas@16"
Stagger

Interior division wall, joists perp. to wall with Lt.
Wt. concrete, metal shear
resistance clips.




2x @ 16" O.C.

/ 2X Plate
16d@8"0.C. — Lap Joists
Lap 5/8" Min.
joists R Plywood
N ;

 J

2X's @16" O.C. » 2X's @16" O.C.

2 X Blocking Simpson A35

@ 32" 0.C.

2X Double Plate

L 2X @ 16" O.C.

Interior Wall-- Joist parallel to wall, with Lt. Wh.
concrete & metal shear resist. clips.




3/4" or 1" Foam
Sheathing

Vapor Barrier

4’< ‘ (To Warm Side Only)
> NOTE: With foil faced foam
> —— sheathing. Use 6 Mil
& polyethylene vapor barrier
Ry
\ “‘ Brick Veneer W/
e S e metal ties @ 16"
SO S — "
& »o;;g;go “\?ﬁ, Vert. & 24" Horz.
. Hy Flashing
Insulation = i
1/2" Min. \ “ , Brovide
Foundation Bolt i bi e
" N Weep Holes
c \
a Caulk or use \ 4 %
E Fiberglas sealer LV /‘
o )
2 . / ~
@ 8" Poured _
S Concrete NOTE: Use Approved soil
< treatment or 26 Gage G.I. Termite
()} .
I Shields
o
10" or 12" Conc.
Foundation Slope Backfill
e for Drainage
X
4" Conc. Slab
W/6"x6" No. 10 | Compacted
W.W.M. where req'd AN Backfill
<7
;4 — Waterproofing UNDISTURBED
| SOIL
Waterproof / -~ 3/8" Parging
Membrane /
6" Gravel Above
4" Gravel BLDG. Paper
4" Drain Tile
8" x 24" Cont. W/2" Gravel
Conc. Footing W/ Key Below

ISOMETRIC SECTION OF TYPICAL BRICK VENEER WALL
CONSTRUCTION WITH POURED CONC. FOUNDATION



3/4" or 1" Foam
Sheathing or As

Specified on Plans

Finish Flooring

E

Sub Flooring

Y0
/\97~
Type of Finish J(
Optional

One Story:

2"x4" or 6" Studs @
16" O.C.

Two Story:

2"x6" 0.C.

4" (Min) Concrete Slab
with 6" x 6" No 10
W.W.M. Where Req'd

Waterproof
Membrane

Rigid Insulation
Extend in 20"

4" Gravel

8“ x 8" x 16"
Conc. Blocks

8" x 24"
Cont. Conc.
Footing

&
AN

N
e

O

<

=<

\

1" Air Space

Vapor Barrier
(To Warm Side Only)

Full Thick Batt

~

Insulation

Contiuous Band
(Same size as Joist)

Double Top Plate

Brick Veneer w/Metal
Ties @ 16" Vert. & 24"
Horiz.

Sheathing

Perimeter Rigid
Insulation

Treated Plate W/
1/2" Min. Anchor
Bolts @ 6"-0" 0.C.

ISOMETRIC SECTION OF TYPICAL BRICK VENEER WALL

OFF OF BASEMENT SLAB



1/2" Sheetrock

] 2 X 6 Studs
Vapor Barrier @ 16" O.C.
//\
e
e i, ——2 X6 " Plate
3/4" or 1" Sheathing \ G L S, e
or see Specs. : /\ \\
e Sy
S Sy
e
Rabbeted \ z/z""
siding (See ,//’
Specs. for e e ,/
Type) e & g
NS
/ y//
R e 2 X 6" Plate w/ 5/8" 16"
R et A — Anchor bolts @ 4' O.C.
FIRST FLOOR WAL AR ~
R \\\; Caulk or use .
- S sill sealer )
f :4 d 4 91
y e, g e 8" Poured 3
LA PRI + Concrete o
~ g -3 4 4 qa\\ 8_
Slope backiill \ RN 3
. 4 F. o Py
for drainage ‘:\ L@ / 3
ONY L FOUNDATION g
=E— S 3
— :\:@:\: \\\\ - L
AR N - ?
- N (~‘<\§ i 8" Poured Concrete
Undisturbed Soil Compacted \% ;
Backfill NN
N , o
BLDG. Paper .. . " L
1 Waterproof
membrane
8" X 15“
4" Drain Tile concrete
w/2" gravel footing w/key
below
2 #4 Rebar

ISOMETRIC SECTION OF A TYPICAL
FRAME WALL W/CONCRETE
FOUNDATION



Finish Underlay

ﬁ and Subfloor
Y 4

| |
2X BLK'G
@ Bearing
\

\ \\ \

\ 1 a
_ /\\ Y S B P _ \ _ e
S Bearlng FLRE Beam/\ - N

" (See Plansfor size) e
////\\\7 o /\\\\
O

Simpson BCEeries
Conn. Post To Beam

Post (See Plan
For Size/Spacing)

Tie Posts @ Base W/2x4
When Ht. Exceeds 3'

Concrete Footing

4

7

JOIST FLOOR CONNECTION



CONCRETE
SUBFLOOR ON

FLOORING —\

3/4" BASE OVER e : i i

30 LB. FELT OR
VAPOR BARRIER.

JOISTS

- INSULATION

ﬁ RIM JOIST

B

JOISTS ON MUDSILL

CONCRETE SUBFLOOR



FRAMED WALL

P.T. MUDSILL

SUBFLOORING

JOIST

METAL JOIST HANGER AT EACH

JOIST, OR SUPPPORT W/ LEDGER

P.T. HEADER BOLTED TO WALL OR
ATTACHED W/ POWDER-DRIVEN
FASTENERS.

POST W/SIMPSON PC44 OR EQUAL
- FOUNDATION WALL

—-

JOISTS FLUSH W/MUDSILL & POST CAP




FRAMED WALL

P.T. MUDSILL

— SUBFLOORING

JOIST

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
T /
‘ 7

METAL JOIST HANGER AT EACH
JOIST, OR SUPPPORT W/ LEDGER

ET)E / OR FRAMED WALL

P.T. HEADER BOLTED TO WALL OR
ATTACHED W/ POWDER-DRIVEN
FASTENERS.

- FOUNDATION WALL

JOISTS FLUSH W/MUDSILL




A\
V

Window / .
Header

Simpson H2.5 ?

Spike Studs w/16d's |
@ 12" o.c.

King Po\'/s,t Stud
(Stud Wall)







Gypsum wall
board.

Finished flooring. ]
Subfloor
/4 e )
,'7 j,ﬁ
C —
Floor truss. /
(o
=TT
.

Concrete or Masonry

foundation wall. \

Gypsum wall

board.

Concrete slab.

A <7

A
Concrete slab.—— B e
, [
1
A [T [T [T 1] E
1 5 s |
==
== P
== ‘ ag
—=ll=] -

4

4

Knee Wall Framing--Truss



WATERPROOF MEMBRANE CONTINUOUS FROM
UNDER SIDING TO OUTER EDGE OR CONCRETE

REINFORCED LIGHTWEIGHT- CONCRETE DECK

PLYWOOD SUBFLOOR

SLOPE 1/4" PER FT.

HEADER JOIST BOLTED TO FRAMING

NOTE:
IF RAIL IS SOLID, SLOPE CONCRETE TO SCUPPERS
FROM ALL DIRECTIONS.

LIGHTWEIGHT-CONCRETE DECK @ WALL



—— WATERPROOF MEMBRANE CONTINUOUS FROM
UNDER SIDING TO SCUPPER THROUGH WALL.

CONCRETE PAVERS SET
ON 30# OR 90# FELT

— PLYWOOD SUBFLOOR

SLOPE 1/4" PER FT.

NOTE:
THIS DETAIL IS NOT RECOMMENDED IN AREAS
OF SEVERE FREEZING WEATHER.

LIGHTWEIGHT-CONCRETE DECK @ WALL



2x4 or 2x6 @ 16"

O.C.
‘VA ~ 2x4 or 2x6 Plate
C I= 16d @ 4" O.C.
10d @ 4" O.C. (/\D
C:;% Light weight Conc.
3/1/2" Conc. Slab on grade C//:) 5/8" P q
with W W F 6X6-1010 C 1= > — YWoo
C::>
Ly v .
e x < S —— ' |
A < \ /
B § A 2x12 Floor Joists N
= \\ < —
- N 7
- o o 6"x6" x 5/16" @ 48" O.C.
L —/ — 4= 1- 3/4" bolt @ each leg
/
2-#5's A
A
V

Masonry Wall & Wood Floor
Connection @ grade



CASING

F.F.

SUBFLOOR /

BLOCKING

RIM JOIST

/

’/ SIDE JAMB
METAL THRESHOLD
/ (INTERGRAL)
1
x SILL SUPPORT OR
CONCRETE
SHEATHING

METAL WINDOW DETAIL



2--#5's

2--#5's

s

10d @ 4" O.C.

Simpson PA28 @ 8'-0" O.C.
Plywood

|
A |

2--#5's

Tcna T
\‘ Rafters
//\ /\\

2--#5's

_——————— Vertical Renf.

Simpson LU
Hanger

4 X Wood Ledger
3/4" dia. M. bolts
@ 48" O.C.

8" Concrete
Block Wall

8!_1 "

Horizonal

N

Reinforcement

#5@ 16" O.C
FTG. Dowel

3 1/2" Slab on grade
/ W/6X6-10/10 W.W.F.

/ /

IS

|
7 \H*H\*H\”H\r

E‘ ‘ ‘* 18"

1 6"

One Story Concrete Block Wall
(Rafters Parallel to wall)



SHEATHING
SIDING
I P.T. MUDSILL
// MAINTAIN 1" GAP
BELOW WOOD SIDING
| /

L OPEN DECKING

DECK JOIST

a ) x P.T. HEADER JOIST BOLTED
‘- TO FOUNDATION WALL
4
. ! FRAMED WALL

OPEN DECK / FOUNDATION WALL



SHEATHING

VERTICAL, HORIZONTAL OR PLYWOOD
SIDING STOPPED ABOVE DECKING

— CONTINUOUS FLASHING FROM UNDER

SIDING TO KERF IN JOISTS

OPEN DECKING

— KERF IN DECK JOISTS
/ FOR FLASHING DRIP

P.T. LEDGER BOLTED TO FRAMING

ANSEZ)

=
:

SIDING OR FLASH OVER SIDING.

x JOIST HANGER
\ RABBET BASE OF LEDGER TO COVER

i INTERIOR FLOOR STRUCTURE

—— FRAMED WALL

OPEN DECK /WOOD WALL



,i; ) //
J A

e

4' (Maximum Backfill)

Permanent Wood Foundation
Basement Wall Section

Field-Applied 2x6" Top Plate

Flashing

2 x 6" Top Plate

2 x 6" Stud Wall insulated as
Appropiate & Warm side Vapor

Barrier
2" Air Gap

1" Thick Lumber or Plywood Strip
protecting Top of polyethylene film

Finish Grade Slope 1/2"
per foot min. 6" from wall

Plywood (See Table

404 .3 current building

code)

6 mil polythylene film

6 mil polyethylene film on crushed

stone or gravle backfill

Min. 3 /2" conc. slab with vapor
barrier & optional 1" screed
board.

~ 2 x 6" Bottom plate

g
2 x 8" Bottom Plate

6" Gravel ot crushed stone fill under
floor (See local building code
requirements)



IIXII Type

Sheetrock \

No. 15 Lb.

Asphalt Felt
1
L
/ 2" Steel C-Runner

1Il Type IISII
Screw 12" o.c.

Two 1" sheetrock liner
panels set between USG
one-piece steel H-Stud 24"

0.C.-Staggered 2"x6" wood XX “>< X |
studs @16" O.C. Each side 12" ‘ ‘/
on 2"x6" Plates min. 3/8" X X X X — "X" Type Sheetrock

from liner panels-1",
Thermafiber stapled to both
sides of liner panels 1/2"
sheetrock facing each side.

- Exterior Surface
2" USG Steel
H-Stud 24"
0.C. Max.

AT

PLAN VIEW

Two Hour Rated
Separation Wall



Brick Rowlock Sill o
1X Trim

L —

Window

Trim beyond

— 1 xwood sill

.

1x2 Trim

1x8 w/ 6" Holes

forPots —

1x10

Galvanized Mtl.

Liner

1x8 Ripped w/1/2"
dia. Weep Holes

at1'-0" O.C.

Expansion Anchors

at 1'-0" O.C.

Wood Bracket

Below

[

|

T 1/4" x 3/8" reveal
@ bottom edge

\ ‘L' bead, typ.
Return GWB @ jamb,
head, and sill of
window

/ka

N Y Y Y

O

Exterior sheathing

5/8" GWB

PLANTER DETAIL



Bearing FLRBeam —

(See Plans for size)

Simpson BC Series
<« —— Conn. Post To Beam

Post (See Plan

< For Size/Spacing)
Tie Posts @ Base W/2x4

When Ht. Exceeds 3'

d

T

Concrete Footing

POST & BEAM CONNECTION



NOTE:
SINGLE STRAP

USE P.T. WOOD COLUMN OR
GALVANIZED STEEL STRAP IS PLACE 30-LB FELT MOISTURE

OFTEN USED IN CRAWL SPACES BARRIER BETWEEN UNTREATED
OR UNDER PORCHES. ST 5 CONCRETE.

~ BOLT STRAP TO
WOOD COLUMN.

3
N

SINGLE STRAP COLUMN BASE



NOTE: Broken Lines Indicates 4" Conc. Slab
for Conc.Driveway

Extends 6" x 6" W.W.M. 2' into
slab

Expansion Joint

4" Conc. Slab W/6" x 6" #10 W.W.M.
for carport & porch

4"

4" Gravel w/ Vapor
Barrier

2 # 5 Rebar or as
Local Req.

8"

|
|
SLAB SECTION AT EDGE OF CARPORT &
PORCH SLAB (MONOLITHIC)




Exterior finish & e Gypsum wall
underlayment //// v/ e board.
as req'd by code. - )

- > 16d nails
C T ~asreqd

I by code.
I D 8d Nails or 14

- a.
B 1 1/2" staples é 6"
- o.c. each side
C\\- F - or equivalent.

Sill sealer ] — ; /Treated sill plate.
Insect clip \ A Tl — — 7 Concrete slab.
or flashing. el P o e )/

Cauk ® <7

< AT
Cementitious 4 — (VA A e |
okl I Anchor bolt as A=l
o A req'd by code. (| ‘ ‘ )

~ == ="

Slab Foundation Framing



Exterior finish T Gypsum wall
& underlayment ////\/// Sun bggrd.

as req'd by code. —T )

. ) I 8d Nails or 14 ga.
I 1 1/2" staples é 6"

- : F 0.c. each side
S ) '/ orequivalent.
(/---/,/ / Capillary break, min

6 mil poly or min

C\\\\ / | ,-3/8" treated plywood.
"F:’H""\/ | r/
Insect clip | <= 7 { /

or flashing. Qe — Al Concrete slab.
B — — ,{ /
S § " >
Caulk N
A
> 1P »
ST T A
Cementitious 5 s
Sg[,agfh Anchor bolt as
req'd by codg. AT ==
S i qﬂﬁﬁﬂﬂﬁ*w(
A T T
E@z@z@z@z@z‘ Eﬂzﬂzﬂzﬁzﬁzﬂzﬂzﬂzﬂzﬂzﬂzﬂ,f
L)~ N TR
EE=EE= EWEWEWEWEWEWEWEWEWEWEW?
T AT T T T T T
ST AT T T T T T T T
D muwm@ﬁu—w
lets
A==

Perform Guard EPS

Slab Foundation Framing



Brick

Metal Wall
Ties @ 16"
Vert. & 32"

Horz. \

2"x 6" Studs @ 16" O.C.

Insulation as per code

__Finish

Air Space

2"x 6" PT w/ 1/2"
— A.B.48"0.C

Sill Sealer

Weep Hole A
48"0.C. —

3-#5Rebar

\ 4" Gravel
s
4" Conc Slab
W/#10 W.W.M.
18"
PERIMETER SLAB SECTION

W/BRICK VENEER (MONOLITHIC)



STEEL COLUMN

EXPANSION BOLTS ARE DRILLED
INTO FOOTING OR SLAV AFTER
CONCRETE IS FINISHED, ALLOWING
FOR PRECISE LOCATION OF
COLUMN

b

~—— STEEL COLUMN.

INTEGRAL

~ COLUMN BASE

Rl
S SARY

o

U

T

* EXPANSION

BOLTS

STEEL COLUMN BASE



&%L N

sl

=— SIDING

SILL

HEADER PER -« SIDING
PLAN

SHEATHING

. BUILDING
WRAP

.

INTERIOR »
TRIM

FLASHING

H“ CASING

HEAD JAMB

-— SIDING

SHEATHING

SN N

FRAMING —_

INTERIOR TRIM \[ L

RABBETED JAMB /

SIDE JAMB

’
A

e

\ BUILDING

WRAP

\CASING

~—— SHEATHING

SWINGING DOOR DETAILS



10d Staggared

(2) 16d (Typical) 16" c.

(2) 16d

1"x4" Min. or 1 1/4"
wide 16 Ga. Steel

| ————— Strap Brace @ 45d,
— 1 Wood panel will also
suffice.

10d

Wood Brace

10d Nailing

N
e Metal Brace
( Simpson RCWB)

Filler Block

Sole Plate

8d Toe Nails

NOTE: One toenail thru studs to sole plate
sufficient if diagonal sheathing used

TOP PLATE AND BRACING



Shear Wall Boundary Nails End Nail Roof Sheathing

— | R bl 1
A
/. \ /N
16d Toes @ 6" v i
0.C. Ea. Truss > . DBL Truss Over Shearwalls.
Y Continue Shearwall
Edge Nail Sheathing to roof.
v
Wall Sheathing &
A

TRUSS SHEAR TRANSFER



NOTE: As Required by code 5/8" "Sheetrock” Panels. "Firecode"
core, may be used as underlayment to the untreated roof sheathing
with panels extending 4' on both sides of area separation wall and
possibly roof side at rake.

2" USG Steel
Roof Deck C-Runner

Ledger

Roof L Roof Truss

Rafter

"Thermafiber” Fire

Blocking F—p~ ><

Annnustenat i N nooennnonny

2"x6" Stud
Framing Each J —L_&

Side o "Sheetrock™ Brand
Gypsum Panels
o
N ——
Y A
o
Two 1" "Sheetrock”
| Brand Gypsum Liner
G Panels
o ——— A
o

L 7

= A

<UL

TWO HOUR RATED STUD
FIREWALL BETWEEN UNITS
SINGLE STORY



NOTE: As Required by code 5/8" "Sheetrock" Panels. "Firecode"
core, may be used as underlayment to the untreated roof sheathing
with panels extending 4' on both sides of area separation wall and
possibly roof side at rake.

2" USG Steel
Roof Deck C-Runner

Ledger

Roof Truss

"Thermafiber” Fire
Blocking
s m WW
4
2"x6" Stud
Framing Each
Side "Sheetrock” Brand
——— Gypsum Panels

.063" USG /

Aluminum Clip

Two 1" "Sheetrock”
Brand Gypsum Liner

e Panels
|
2" USG Steel
C-Runner (Sealant
Suitable Fastener Under Track)
for steel runner @ b
24" o.c. \
N

TWO HOUR RATED STUD
FIREWALL BETWEEN UNITS
SINGLE STORY




NOTE: As Required by code 5/8" "Sheetrock™ Panels. "Firecode”
core, may be used as underlayment to the untreated roof sheathing
with panels extending 4' on both sldes of area separation wall and
possibly roof side at rake.

2" USG Steel
Roof Deck C-Runner

_Ledger

Roof —— Roof Truss

Rafter ¥-

"Thermafiber” Fire
Blocking
ﬁ 2N M}
v
2"'x6" Stud
Framing Each
Side "Sheetrock” Brand
Gypsum Panels
.063" USG
Aluminum Clip
Two 1" "Sheetrock”
Brand Gypsum Liner
Panels
L
3/8" Type S Pan D
Head Screw 7| Two 2° USG Steel
\//D ——C-Runners
o
. —
063" USG pacy
Aluminum Angle (—
clip at each floor
level |
D
"Thermafiber” Fire
Insulation Blockingbat
A each floor level as Req.
==
Note: Additional Clip angles are
Note: Clip needed midheight between floors (5'
placement is for O.C.)4f‘o‘; area below top 23" building
Typical up to 44",
Construction
2" USG Steel
C-Runner (Sealant
Suitable Fastener Under Track)
for stesl runner @ L
24" o.c.

TWO HOUR RATED STUD
FIREWALL BETWEEN UNITS



ook /= GYPBOARD
/ 7 = Insulation As
| = Required by Code
/ ="
2" Rigid Insulation i <>< 2X4 Sole plate &
~ 7 | swds@ieoc.
. & N Flooring
L / : i
¢ K
SubFlooring
/
Masonry Ties A RIM Joist
/ 2X10 JOISTS
s
. ¥Naller X Gyp Board
Ve '\ 2X4 Top Plate &
Studs @16" 0.C.

INSULATION

¥ Gyp Board

FLOOR--2X4's BRICK & RIGID



Gyp. Board -
Insulation as Req.
2x4 Sole Plate w/Studs
@ 16" 0.C. \

Flooring & Base

SubFIr/Underlay /

2X10 JOISTS

-« Siding

Infiltration Wrap

Wall Sheathing

Rim Joists

DBL 2x4 Top Plate & —
Studs @ 16" 0.C.

2x4 Naliler

FLOOR: 2X4 w/ SIDING



o

GYP Board
<‘_/

Insulation as
Siding / Req. by Code

I 2X6 Sole Plate &
Infiltration / Struds @ 16" 0.C.

Wrap /]
Flooring
Wall i N
Sheathing |
T/ \\—
/ <> SubFLr/Underlayment
=) 2X10 Joists
RIM Joist W =) _-2X6 Nailer
A

\ GYP Board

DBL 2X6 Top Plate &
Studs @ 16" 0.C.

FLOOR----2X6 W/SIDING



SIDING

EADER j § I SHEATHING

~_ BUILDING
2 WRAP
INTERIOR TRIM &
[ 3\ EASHING
CASING
HEAD JAMB
~~— SIDING
—ll
FRAMING E ..~ SHEATHING
INTERIOR i SILL \
( _ ~ BUILDING
- AT WRAP
SIDING f[ ﬁ\—
%/ | —— SHEATHING INTERIOR TRIM  — CASING
SILL JAMB SIDE JAMB

TYPICAL WOODEN
WINDOWS-JAMBS



Roofing

15Lb Felt

1/2" Plywood Min.

Rafters @ 24" O.C.

— 12"Insulation

Sub fascia -

~___Ceiling Joist

1x2
Redwood —

i

Fascia
3/8" AC Plywood J

8"x16" Cornice
Vents & 8' O.C.

/

1x8 Fir Brick Band

Lo

o

L

Brick Ties

X

/

1" Air Space

Brick
Veneer

P o
//
//
L

L«

1" Styrofoam

Positive Seal
w/Caulking

—

\
\

Top Plate

Nailer

1/2" Sheet Rock

6 Mil Poly
Positive Vapor
Barrier

Insulation As
Required

2x 4 Or 6 Studs

1/2" Min. x8"
Anchor Bolt @ 48"
0.C.

2X4"or 6" Plate

J

/

o

4

18" Polyethylene
VaporBarrier

A

/

Gravel Bed

1' Polyethylene
Foam Insulation —

/—. i
/\

A

> 4
®

Ll

- 6 Mil Visqueen

| — 1T 4
=] =rfr—=rr—rr—TmT

Earth e | HLH\:\H:

(===

M=T=]
Compacted / ‘

TYPE "A" CORNICE



15Lb Felt

1/2" Plywood Min.

Rafters @ 24" O.C.

Sub fascia

Fascia

3/8" AC Plywood

8"x16" Cornice
Vents & 8' O.C.

1x8 Fir Brick Band

Roofing

12"Insulation

Ceiling Joist

Top Plate

Nailer

— e 1/2" Sheet Rock

6 Mil Poly
Brick Ties Posi.tive Vapor
Barrier
1" Air Space .
Insulation As
Brick Required
Veneer — —
1" fi ——=
Styrofoam = 2x 4 Or 6 Studs
U .
N =
(E;{J 1/2" Min. x8"
— Anchor Bolt @ 48"
> =] 0.C.
g =
N == / 2X4"or 6" Plate
Positive Seal NE2
w/Caulking - in Zsank
L R
18" Polyethylene = g
VaporBarrier N il o il v _ Gravel Bed
[, o o AT IR A e
1' Polyethylene PR < I e “(;-YJ\:\f
Foam Insulation . < =] || =

Compacted Earth

»
\

6 Mil Visqueen
7

r

]

ra

1|

Il

L

|1

] 0 el | e 8 |

TYPE "B" CORNICE



/ /—GYP Board
/ / § Insulation as
Brick % 1 " ReqbyCode
Veneer £ , 2X6 Sole Plate &
/ Studs @ 16" 0.C.
7
Masonry N Flooring
Ties / / /
/ L
Wrap 4
Rim Joist
% // ”>j 2X10 JOISTS
Wall // v/< _—2X6 Naliler
Sheathing 7 V
~ i \\x 2X6 Top PLate &
T Studs @ 16" 0.C.
- )

FLOOR ---2X6's W/ BRICK



6X6 PT POST W/2X4

Break Way Panel Framing
gomgr I 2X4's @ 24" o.c. W/2X4 Vertical
oards ~ Blocking @ 4' O.C. ( Typ.)
i |
N S S A S A B
¥ \ \ \ \ \ \ \ \ \ \
Cedar Shingles Va
O/Tyvek VB \ =

- NOTE: For Break Away Panels
Nail 10d Nails into 6X6
Posts @ 18" O.C.

1/2" Plywd. SHTG. ]

TYPICAL "BREAK WAY" WALL SECTION



g)
- S Y| 4 Sheathin
Batt Insulation G g
—
2" x 6" or 4" Studs = 2" Foam Board
@ 16" O.C. C;\\
C(E)\ Fiberglas Mat
WMWWR " Stucco Type Finish
Batt Insulation —— Wire Supports
Py
8“X8"X16"
Conc. Block | X NOTE: SEE MFG SPEC. For
sheathing, fastening, foam board
2"-0" Min. and stucco finish
_ il requirements, etc.
Vapor Barrier
Grade
S]]
|
-
— | — |
| | | ‘ o
I 16" Min.
8" o . .
=l N—
g BRI 2 # 5 Rods or
as Required
16"

TYPICAL CRAW SPACE REQUIREMENTS



3" Clr.

#5's @16" O.C.
Each Way R
NOTE: 8" Concrete Blocks are
shown but wooden wall can be
installed using mudsill and
3/4" anchor bolt 24" O.C.
#4 Dowels @ 32"
0O.C.( 30"x30") \\
\ g )
WWEF 6X6 -1010 - 2#5's
o8
1=e R% ° v e (*11S
\M\H mm P - 2-4#5's
=== :
= \*m*m*m* RS x
=] \*\ =] \*\ | f *._8" Concrete Wall or =
| |= Concrete Blocks E
T=i=1=n=R|! 9
= = I =
== =
< == 3
=[[=][=[ 3
7m:u o
:m: .G ] 1] B
\:u ~_1-#5's @ 16" 0.C. *§
= Each Way @
w
2-#5's —,
o
&
| 2 : .
12" -
=y 1 = [ ] - A ] S
L . m y p
Cy2e

Typical Elevator Pit



235# Comp. Roofing
15# Felt Paper

1/2" Plywood (32/16)
3\'\
< Ridid Insulation Baffle at
& 31/2" x 22 1/2" Vents--6"
~_ \\ o.C.
) S {Blocking
e S
=5 S
.
-
)
=
Typical Cj
Roof/Wall %
Detail % _
7 6" Min. \ 1/2" Gyp. Board-Customer choice

1/2" Particle Board
2"x8" T&G Decking

4"x6" DF #2 Beam
Insulation with Support

6 Mil Black Polyethylene

IS

\

2"x6" 16" O.C.
R-19 Insulation or code requirements
5/8" T-1-11 Siding or customer choice.

Ground Cover _Pressure Treated Sill
1/2"x16" Anchor Bolt 6' O.C. Max.
v
#3 rebar 18" O.C.
7 a " J-71//~— AllRebar Tied @ Joints
. ' /" e and Intersections
4 1R v
‘ “a | 5 8"
18" . A A 7
Min. qom Typical Under P gﬁgﬁgﬁgﬁ;
Min. Floor Detall ) === e
a° 2 HTT—TTT—IT14
) ===
' e NI
// ‘/ = [ [ gy pe— iy o — iy e ) ) p— ) e =R =N == \—\ [ T—==1 \ \—:‘ ‘ lzmzl l lz /
5ﬂ%%%5@ﬁ5ﬁ%%ﬂ%ﬂﬁ%ﬂﬁ%ﬁ%@iﬁﬁ /
7EW57£WEWEWEWE7EWEEWEWEm57£m:T: —|
L= \!\ =] [ [—=[1I=—]] \Q\ =] [|—=l =[] \!\ L= =]
#4 Rebar
/ 1I_0II

TYPICAL WALL SECTION



SIDING

HEADER PER / SHEATHING
PLAN /

— BUILDING WRAP

INTERIOR TRIM ——— — NAILING FIN

/ FLASHING
VINYL JAMB
EXTENDER
HEAD JAMB
SIDING
gL PER 'ﬁ SHEATHING
PLAN
INTERIOR f SHIM ‘/
BUILDING WRAP
NAILING T U G
FIN ol
INTERIOR TRIM \L k —— NAILING FIN
N >

N \
— CAULKING

SILL JAMB SHEATHING

SIDE JAMB
VINYL WINDOWS-JAMBS



2"x6" Studing 16" O.C.

/

R-19 Min. = ‘
Insulation T
= 1/2" Gyp. Board
3/4" T&G Ply =
Decking To gjj
Second — 2"x6" Sole Plate
2"x12" Floor — —
floor Joist = 2'x12' Rim Joist
-
|/ | Blocking For , .
\f’ \'/ | " sheetrock To Main 3
/\ ’/\ v Floor C
S R-19 Mi :
- s N - in.
g/r?eelfclr:)ecliated =/ Insulation
walls & ceiling = 2'x6" Sole Plate
o =
St 2"x6" cripple fi; 2-4-1 Ply FIr Deckin
stud 16" 0.C. —
‘;}% 2"x10" Joist Hanger
5
=l '
> =ai
Solibhe T 2% 91/2" Truss Joist
. i @ 16" O.C.
Garage ©
=°. Floor -
< #4"Rebar Vet @ - ﬂ:m:M:MY:M:\ |
o |
) ;mg\];[\;m;m;m N:)te: foqting to be
=h 8"x15" Min.
:M:L A :ﬁ:ﬁ:ﬁ:ﬁ:ﬁ:
=GR IIEEITEEITETE
4" Conc Slab

2 #4 Rebar Horiz. in footing

Wall Section Between Floors
(Garage & Main Floor)



WET BASE
THIS GALVANIZED STEEL BASE PROVIDES THE CLEANEST CONNCTION.
IT MUST BE PRECISELY LOCATED IN WET CONCRETE.

—— BOLT STRAP TO WOOD COLUMN.

< A
L < | 2 P /
Aq 4\ \‘ ‘\ £ < /
A I & [l
- A
41 _ Z‘AAG <
g by ! 4 4 4
ﬁ i = < 4 A
g I || 2
/ 2 A < gl > ///
Ao s e em e e ez g
GZ,\ 2 A )
A ‘ 7
) A 7
R < 4
S \\A\\7 P < //

WET BASE COLUMN BASE



WIDE BOXED SOFFIT W/BRICK WALL



,ﬁ CASING

THRESHOLD

F.F.
\ SILL W/DRIP SLOPES @ 10

k/; g, DEGREES SHAVE FRAMING

| | / 7‘ ACCORDINGLY

SUBFLOOR /

BLOCKING T

- SIDING

— SHEATHING
RIMJOIST ——»

WOOD SILL



2'x4" or 6"
Frame Wall

.~
5/8" GYP BD.

/ ™ Plywood Sheathing

Lap Siding

WOOD FRAME @ CORNER



2"x 4" or 6" Wood Frame

Wall
\ / 5/8" GYP BD.
Lap A
Siding
Plywood
Sheathing
Drip Cap
B / Wood Trim
| 1 |

Alum Drip & \

Sealant Shim

WOOD FRAME HEADER



A

Window

Wood Sill
‘¥
Wood Trim
— Shim
Plwood
Sheathing 5/8" Gyp Board
Lap Siding =

2" x 6" Wood
Frame Wall

WOOD FRAME SILL



2"x 4" or 6" Wood
Frame Wall

—
E—
o /x)/j ™  Sheetrock
Insulation As per ——>
P N ——
Local Code C‘\\\\‘/
) CDX PLYD
( / ﬁ Subfloor
\\ ////
,///<\\
Lap Siding ™
2"x10" Wood Joist
/ / Wood Base
/ / Plate (PT)
Foundation / / Leveling
Anchor Bolt / / / E / / Compound
| /\\\ I v //
i
g - - Conc.
i Footing
A

WOOD FRAME SILL @ FOOTING



A

LAP SIDING OVER
PLYWOOD SHEATHING AT
2"X4" WOOD FRAME WALL
WITH 5/8" GYP. BD.

PLYWOOD SUBFLOOR

—
- 2"X10" WOOD JOIST
= ANCHOR BOLT AT WOOD
BASE PLATE OVER
LEVELING COMPOUND
2 R -
A/\\ - CONCRETE FOOTING

WOOD FRAME SILL AT FOOTING



~ 4"X8" WOOD BEAM

~2"X8" WOOD JOISTS AT 16" O.C.
IN 16 GAUGE JOIST HANGER

- 16 GAUGE POST CAP NAILED
TO POST AND BEAM

- 4"X6" WOOD POST

WOOD POST AT BEAM



N\ \\\ |
/ /‘(/
\» \‘\
J } 4 x6 Post
//
/ < 7
\ \\ 7 _5/16" Side Plates
//
/”/
e __3/4"M. Bolts
/ » o
2 / TH //.//
4 /> / o 5/16" Side Plates
= /
- )
- Y Top of Concrete
= - 7 ya
g
gl _ 4
3/4" B \
GRT. 4’ \ "
A ‘\ A &
\\\ A /
| < \ |
2] <
L
3/4" Anchor Bolts
5" Embedment
2285
"~ Wood Post

(Supported on Conc.
w/metal plate connection)



ﬁ CASING

F.F. —

-

h |

THRESHOLD

/ SILL W/DRIP

SLOPES @ 7 BASE LEVEL

e L ON FRAMING W/OPTION

A
SUBFLOOR ——

BLOCKING /

:

RIMJOIST ——»

SUB-SILL

SHEATHING

WOOD SILL

NOTE: NOT SUITABLE FOR SLAB
SUBFLOORS



5/16" Bent "U"
PLate

Ll
!

2" [] /© <O> 5/16" Base Plates
_ i B i W Top of Concrete
A =
1 i 4 5
- el .
3/4 o
GRT. 4 7 —
A
A
<7
A <
2
3/4" Anchor Bolts
5" Embedment
Wood Post

(Supported on Conc.w/metal plate connection)



	001. Adjustable column base
	Model

	002. All weather wood foundation
	Model

	003. Alternate Block Firewall-Crawl Space FND
	Model

	004. Basement Drainage
	Model

	005. Basement Drainage---Wet Areas
	Model

	006.Basement Stud Wall DTL
	Model

	007. Basement Wall Conc
	Model

	008. Basement Wall
	Model

	009. Basement Wall-a
	Model

	010. Bearing Partition Wall
	Model

	011. Block wall w-brick-slab
	Model

	012. Block wall w-siding-stucco-slab
	Model

	013. Block wall-siding-rigid insulation
	Model

	014. Block w-siding-stucco and basement
	Model

	015. Brick Fascia Soffit Trim
	Model

	016. Brick Wall & Wood Floor Connection @ grade
	Model

	017. Cantilevered Floor Details
	Model

	018. Cantiliever Detail
	Model

	019. Chair Rail
	Model

	020. Closed cornice
	Model

	021. Conc block wall w-rigid insulation
	Model

	022. Conc block wall-brick
	Model

	023. Concrete Basement Wall w-slab
	Model

	024. Concrete Footing W-Girder Pocket
	Model

	025. Concrete pier w-floor framing
	Model

	026. Concrete Subfloor Full depth joists
	Model

	027. Corner Window Detail
	Model

	028. Door Jamb Detail
	Model

	029. Drip Cap Detail
	Model

	030. Duckboard deck at wall
	Model

	031. End Post Above & Below-Steel Beam
	Model

	032. End Post-Steel Beam w-metal plates
	Model

	033. End Post-Wooden Beam
	Model

	034. Ext Wall Rafters Parallel to Wall, Bricks
	Model

	035. Exterior slab at wall
	Model

	036. Exterior Wall- Conc Blks to Ledger
	Model

	037. Exterior wall flat roof overhang-clips
	Model

	038. Exterior Wall Joists Parallel to Wall
	Model

	039. Exterior Wall, Joist Prep. to Wall 4X Ledger-metal tie straps (Bricks)
	Model

	040. Exterior Wall Joists W-Conc Blks
	Model

	041. Exterior Wall Rafters Parallel
	Model

	042. Exterior Wall Rafters to Wall  2
	Model

	043. Exterior Wall Rafters to Wall, Bricks
	Model

	044. Exterior Wall Rafters to Wall, Overhang
	Model

	045. Exterior Wall Rafters to Wall
	Model

	046. Exterior Wall rafters-clips
	Model

	047. Exterior wall rafters-flat roof-clips
	Model

	048. Exterior wall rafters-overhang-clips
	Model

	049. Exterior wall rafters-parallel-clips
	Model

	050. Exterior Wall Section--Brick
	Model

	051. Exterior Wall -with light concrete
	Model

	052. Exterior Wall w-metal shear clips
	Model

	055. Exterior Wall-Balcony--concrete
	Model

	056. Exterior Wall-light concrete
	Model

	057. Exterior Wall-Metal clips-Joits parallel
	Model

	058. Exterior Wall--Overhang concrete
	Model

	059. Exterior Wall-Overhang w-metal clips
	Model

	060. Exterior Wall-Overhang-metal clips
	Model

	061. Exterior wall-parallel scarf slope roof
	Model

	062. Exterior wall-parapet-clips
	Model

	063. Exterior wall-scarf roof-parapet-clips
	Model

	064. Exterior wall-scarf slope roof
	Model

	065. Exterior wall-scarf slope roof-parapet
	Model

	067. Floor Joist Hanger and Ledger Beam
	Model

	067. Holdown detail at stem wall
	Model

	068. Floor Joist Hanger and Wall
	Model

	069. Floor Openings
	Model

	070. Floor Truss Bearing on Wall Panel
	Model

	071. Foundation Framing Joist
	Model

	072. Foundation Framing--Brick Ledge
	Model

	073. Foundation Framing-Joist
	Model

	074. Foundation Framing--Truss
	Model

	075. Frame wall construction 2
	Model

	076. Frame wall construction
	Model

	077. Frame wall with siding
	Model

	078. Garage Door Detail
	Model

	079. Integral slab footing w-bearing wall
	Model

	080. Integral slab footing w-wood post
	Model

	081. Interior Concrete Subfloor
	Model

	082. Interior dicision wall-with clips
	Model

	083. Interior division wall joist perp
	Model

	084. Interior division wall
	Model

	085. Interior Door Jamb Details
	Model

	086. Interior Post-Steel Beam
	Model

	087. Interior Post-Wood Beam
	Model

	088. Interior Steel Beam W-angled connection
	Model

	089. Interior Wall Conc Blks to ledger
	Model

	090. Interior Wall Conc Blks Wall to Ledger 2
	Model

	091. Interior Wall Joist Parallel, metal clips
	Model

	092. Interior Wall Joist Parallel
	Model

	093. Interior Wall JSTS Conc Blks to ledger
	Model

	094. Interior Wall JSTS--Bricks
	Model

	095. Interior Wall --metal clips
	Model

	096. Interior Wall Rafters Parallel to wall 2
	Model

	097. Interior Wall Rafters Parallel to Wall
	Model

	098. Interior Wall Rafters Prep & Parallel
	Model

	099. Interior Wall Rafters, blocks
	Model

	100. Interior Wall to Ledger Board--Bricks
	Model

	101. Interior Wall to Ledger--Bricks  2
	Model

	102. Interior Wall to Wall Conc Blks
	Model

	103. Interior Wall Unequal joist -metal clips
	Model

	104. Interior Wall Unequal joist--Parallel
	Model

	105. Interior Wall Unequal joists
	Model

	106. Interior Wall Unequal joist--w-concrete
	Model

	107. Interior Wall-Concrete both sides
	Model

	108. Interior wall-concrete-clips
	Model

	109. Interior Wall--w-concrete
	Model

	110. Isometic Brick Wall
	Model

	111. Isometic Section-Brick Wall-Wood Framed
	Model

	112. Isometic View Typ Fnd Stem Wall
	Model

	113. Joist Floor Connection
	Model

	114. Joist on Mudsill concrete Floor
	Model

	115. Joists flush w-mudsill & post cap
	Model

	116. Joists flush w-mudsill
	Model

	117. King Post Stud
	Model

	118. Knee Wall Framing
	Model

	119. Knee Wall Framing--Truss
	Model

	120. Lightweight-conc deck at wall 2
	Model

	121. Lightweight-concrete Deck @ Wall
	Model

	122. Masonry Wall &Wood Floor
	Model

	123. Metal Window Detail
	Model

	124. One Story Conc Block Wall
	Model

	125. Open deck--foundation wall
	Model

	126. Open Deck-Wood Wall 2
	Model

	127. Permantent Wood Fnd-Basement Wall
	Model

	128. Plan View 2 Hr Rated Separation Wall
	Model

	129. Planter detail
	Model

	130. Post & Beam Connection
	Model

	131. Single strap column base
	Model

	132. Slab for Carport or porch--monolithic
	Model

	133. Slab Foundation Framing 1
	Model

	134. Slab Foundation Framing 2
	Model

	135. Slab Section W Brick--Monolithic
	Model

	136. Steel column base
	Model

	137. Swinging Door Details
	Model

	138. Top Plate and Bracing
	Model

	139. Truss Shear Transfer
	Model

	140. Two Hour Rated Stud Firewall--1 story 1
	Model

	141. Two Hour Rated Stud Firewall--1 story
	Model

	142. Two Hour Rated Stud Firewall-Between Units
	Model

	143. Typ floor 2x4- brick-rigid insulation
	Model

	144. Typ floor 2x4 W-siding
	Model

	145. Typ Floor 2x6 w-siding
	Model

	146. Typical Wooden Windows-Jambs
	Model

	147. Type A Cornice
	Model

	148. Type B Cornice
	Model

	149. Typ-floor 2x6 W-Bricks
	Model

	150. Typical Breakway Wall Section
	Model

	151. Typical crawl space requirements
	Model

	152. Typical elevator pit
	Model

	153. Typical Roof-Wall Section
	Model

	154. Vinyl Windows  Jambs
	Model

	155. Wall Section-4' Stem Wall
	Model

	156. Wet Base column base
	Model

	157. Wide boxed soffit w-brick wall
	Model

	158. Window Sill 2
	Model

	159. Wood Frame @ Corner
	Model

	160. Wood Frame Header
	Model

	161. Wood Frame Sill 1
	Model

	162. Wood Framed Sill @ Footing
	Model

	163. Wood Framed Sill At Footing
	Model

	164. Wood Post At Beam
	Model

	165. Wood Post on Concrete floor
	Model

	166. Wood Sill 3
	Model

	167. Wooden Post w-metal plate connection
	Model




